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DU BEd

Topic:- DU_J18_Bed_Topic01

There is a building having six floors numbered 1, 2, 3, 4, 5 and 6. Six friends Aslam, Boni, Carol, Divakar, Enu and Amanpreet live on
different floors in the given building. There are two floors between the floors on which Divakar and Amanpreet live. Amanpreet lives on a
floor above Divakar’s floor. Aslam lives on the floor which is even numbered. Divakar does not live on floor number 2. Carol does not live
on any of the floors below Amanpreet’s floor. Boni does not live on an odd numbered floor. Enu does not live on a floor immediately above
or immediately below the floor on which Boni lives.

 एक इमारत म� छ: मंिज़ल� ह� िजनकी �म सं�ा है 1, 2, 3, 4, 5 और 6 | छ: दो�, असलम, बोनी, कैरोल, िदवाकर, ईनू, और अमन�ीत इस इमारत की अलग-अलग
मंिज़लो ंपर रहते ह� | िजन मंिज़लो ंपर िदवाकर और अमन�ीत रहते ह�, उन मंिज़लो ंके बीच दो मंिज़ल� ह� | अमन�ीत िदवाकर की मंिज़ल के ऊपर वाली मंिज़ल पर रहती है |
असलम सम सं�ा वाली मंिज़ल पर रहता है | िदवाकर मंिज़ल सं�ा 2 पर नही ंरहता | कैरोल उन मंिज़लो ंम� से िकसी भी मंिज़ल पर नही ंरहती जो अमन�ीत की मंिज़ल के
नीचे ह� | बोनी िवषम सं�ा वाली मंिज़ल पर नही ंरहता है | ईनू उस मंिज़ल पर नही ंरहता जो मंिज़ल बोनी की मंिज़ल से एकदम ऊपर या एकदम नीचे है |

  
The person who lives on floor number 1 is

 मंिज़ल सं�ा 1 पर रहने वाला ��� है [Question ID = 6353]

1. Enu / ईनू [Option ID = 25405]
2. Aslam / असलम [Option ID = 25404]
3. Amanpreet / अमन�ीत [Option ID = 25406]
4. Divakar / िदवाकर [Option ID = 25403]

Correct Answer :-
Divakar / िदवाकर [Option ID = 25403]

There is a building having six floors numbered 1, 2, 3, 4, 5 and 6. Six friends Aslam, Boni, Carol, Divakar, Enu and Amanpreet live on
different floors in the given building. There are two floors between the floors on which Divakar and Amanpreet live. Amanpreet lives on a
floor above Divakar’s floor. Aslam lives on the floor which is even numbered. Divakar does not live on floor number 2. Carol does not live
on any of the floors below Amanpreet’s floor. Boni does not live on an odd numbered floor. Enu does not live on a floor immediately above
or immediately below the floor on which Boni lives.

 एक इमारत म� छ: मंिज़ल� ह� िजनकी �म सं�ा है 1, 2, 3, 4, 5 और 6 | छ: दो�, असलम, बोनी, कैरोल, िदवाकर, ईनू, और अमन�ीत इस इमारत की अलग-अलग
मंिज़लो ंपर रहते ह� | िजन मंिज़लो ंपर िदवाकर और अमन�ीत रहते ह�, उन मंिज़लो ंके बीच दो मंिज़ल� ह� | अमन�ीत िदवाकर की मंिज़ल के ऊपर वाली मंिज़ल पर रहती है |
असलम सम सं�ा वाली मंिज़ल पर रहता है | िदवाकर मंिज़ल सं�ा 2 पर नही ंरहता | कैरोल उन मंिज़लो ंम� से िकसी भी मंिज़ल पर नही ंरहती जो अमन�ीत की मंिज़ल के
नीचे ह� | बोनी िवषम सं�ा वाली मंिज़ल पर नही ंरहता है | ईनू उस मंिज़ल पर नही ंरहता जो मंिज़ल बोनी की मंिज़ल से एकदम ऊपर या एकदम नीचे है |

  
The following live on the floors exactly between Divakar and Amanpreet

 िन�िल�खत म� जो िदवाकर और अमन�ीत के िबलकुल बीच वाली मंिजल पर रहते ह�, वे ह� [Question ID = 6351]

1. Enu, Carol / ईनू, कैरोल [Option ID = 25397]
2. Aslam, Enu / असलम, ईनू [Option ID = 25395]
3. Carol, Boni / कैरोल, बोनी [Option ID = 25396]
4. Enu, Boni / ईनू, बोनी [Option ID = 25398]

Correct Answer :-
Aslam, Enu / असलम, ईनू [Option ID = 25395]

There is a building having six floors numbered 1, 2, 3, 4, 5 and 6. Six friends Aslam, Boni, Carol, Divakar, Enu and Amanpreet live on
different floors in the given building. There are two floors between the floors on which Divakar and Amanpreet live. Amanpreet lives on a
floor above Divakar’s floor. Aslam lives on the floor which is even numbered. Divakar does not live on floor number 2. Carol does not live
on any of the floors below Amanpreet’s floor. Boni does not live on an odd numbered floor. Enu does not live on a floor immediately above
or immediately below the floor on which Boni lives.

 एक इमारत म� छ: मंिज़ल� ह� िजनकी �म सं�ा है 1, 2, 3, 4, 5 और 6 | छ: दो�, असलम, बोनी, कैरोल, िदवाकर, ईनू, और अमन�ीत इस इमारत की अलग-अलग
मंिज़लो ंपर रहते ह� | िजन मंिज़लो ंपर िदवाकर और अमन�ीत रहते ह�, उन मंिज़लो ंके बीच दो मंिज़ल� ह� | अमन�ीत िदवाकर की मंिज़ल के ऊपर वाली मंिज़ल पर रहती है |
असलम सम सं�ा वाली मंिज़ल पर रहता है | िदवाकर मंिज़ल सं�ा 2 पर नही ंरहता | कैरोल उन मंिज़लो ंम� से िकसी भी मंिज़ल पर नही ंरहती जो अमन�ीत की मंिज़ल के
नीचे ह� | बोनी िवषम सं�ा वाली मंिज़ल पर नही ंरहता है | ईनू उस मंिज़ल पर नही ंरहता जो मंिज़ल बोनी की मंिज़ल से एकदम ऊपर या एकदम नीचे है |

  
Boni lives on floor number

 बोनी के िनवास की मंिज़ल सं�ा है

[Question ID = 6352]

1. 4 [Option ID = 25400]
2. 2 [Option ID = 25401]
3. Cannot be determined / िनधा��रत नही ंिकया जा सकता [Option ID = 25402]
4. 6 [Option ID = 25399]
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Correct Answer :-
6 [Option ID = 25399]

Topic:- DU_J18_Bed_Topic02

In the following question, choose the correct alternative from the given options that will complete the series
 िन�िल�खत �� म� िदए गए िवक�ो ंम� से वह चुिनए जो �ंृखला को पूरा कर दे |

  
4, 8, 28, 80, 244, __

  

[Question ID = 6355]

1. 278 [Option ID = 25411]
2. 428 [Option ID = 25412]
3. 728 [Option ID = 25414]
4. 628 [Option ID = 25413]

Correct Answer :-
728 [Option ID = 25414]

In the following question, choose the correct alternative from the given options that will complete the series
 िन�िल�खत �� म� िदए गए िवक�ो ंम� से वह चुिनए जो �ंृखला को पूरा कर दे |

  
a e b d __ f j g i __ k o l n __

  

[Question ID = 6356]

1. c m h [Option ID = 25415]
2. c h m [Option ID = 25416]
3. e j l [Option ID = 25418]
4. c g m [Option ID = 25417]

Correct Answer :-
c h m [Option ID = 25416]

In the following question, select the odd letter/word/number from the given alternatives
 िन�िल�खत �� म� िदए गए िवक�ो ंम� से िवषम अ�र/ श� /सं�ा चुिनए

[Question ID = 6358]

1. xut [Option ID = 25424]
2. jfe [Option ID = 25425]
3. eba [Option ID = 25423]
4. yvu [Option ID = 25426]

Correct Answer :-
jfe [Option ID = 25425]

In the following question, select the odd letter/word/number from the given alternatives
 िन�िल�खत �� म� िदए गए िवक�ो ंम� से िवषम अ�र/ श� /सं�ा चुिनए

[Question ID = 6357]

1. 79 – 48 [Option ID = 25422]
2. 59 – 34 [Option ID = 25421]
3. 35 – 08 [Option ID = 25419]
4. 57 – 24 [Option ID = 25420]

Correct Answer :-
59 – 34 [Option ID = 25421]

Topic:- DU_J18_Bed_Topic03
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Four friends - Raushan,Parul, Saba and Bhaskar - are to appear for M.A. entrance exams in four different subjects - History, Geography,
Political Science and Sociology - not necessarily in that order. The centres for the exams are in four different colleges A, B, C and D - which
is situated in 4 different places - P, Q, R and S - not necessarily in that order. It is also known that: Parul’s examination center is C. The
college assigned to Sociology is B, which is situated in Q. The friend, whose exam centre is A, is to visit S to take his/her exam. Saba has
applied for History. Raushan is to visit R to take his exam.

 चार िम� - रौशन, पा�ल, साबा और भा�र - चार िविभ� िवषयो ंइितहास ,भूगोल, राजनीित िव�ान और समाजशा� से (इसी �म म� नही)ं एम.ए. �वेश परी�ा म� बैठना
चाहते ह�। परी�ा के क� � चार िविभ� महािव�ालयो ंA, B, C और D म� है, जो चार अलग-अलग �थानो ं– P, Q, R और S (इसी �म म� नही ं) म� है। यह भी �ात है िक पा�ल
का परी�ा क� � C है। समाजशा� की परी�ा B महािव�ालय म� होनी है, जो �थान Q म� ��थत है। िजस िम� की परी�ा का क� � A है, उसे परी�ा म� बैठने के िलए �थान S म�
जाना होगा।की

 साबा ने इितहास की परी�ा के िलए आवेदन िकया है और रौशन को परी�ा देने के िलए �थान R म� जाना होगा।
  

Which of the following can be correct combination of ‘exam-place’ for Raushan?
 रौशन के िलए 'परी�ा-�थान' का सही संयोजन कौन सा हो सकता है?

[Question ID = 6363]

1. Political Science - P / राजनीित िव�ान - P [Option ID = 25445]
2. Sociology - R / समाजशा� - R [Option ID = 25444]
3. Geography – R / भूगोल - R [Option ID = 25446]
4. Geography - S / भूगोल – S [Option ID = 25443]

Correct Answer :-
Geography – R / भूगोल - R [Option ID = 25446]

Four friends - Raushan,Parul, Saba and Bhaskar - are to appear for M.A. entrance exams in four different subjects - History, Geography,
Political Science and Sociology - not necessarily in that order. The centres for the exams are in four different colleges A, B, C and D - which
is situated in 4 different places - P, Q, R and S - not necessarily in that order. It is also known that: Parul’s examination center is C. The
college assigned to Sociology is B, which is situated in Q. The friend, whose exam centre is A, is to visit S to take his/her exam. Saba has
applied for History. Raushan is to visit R to take his exam.

 चार िम� - रौशन, पा�ल, साबा और भा�र - चार िविभ� िवषयो ंइितहास ,भूगोल, राजनीित िव�ान और समाजशा� से (इसी �म म� नही)ं एम.ए. �वेश परी�ा म� बैठना
चाहते ह�। परी�ा के क� � चार िविभ� महािव�ालयो ंA, B, C और D म� है, जो चार अलग-अलग �थानो ं– P, Q, R और S (इसी �म म� नही ं) म� है। यह भी �ात है िक पा�ल
का परी�ा क� � C है। समाजशा� की परी�ा B महािव�ालय म� होनी है, जो �थान Q म� ��थत है। िजस िम� की परी�ा का क� � A है, उसे परी�ा म� बैठने के िलए �थान S म�
जाना होगा।

 साबा ने इितहास की परी�ा के िलए आवेदन िकया है और रौशन को परी�ा देने के िलए �थान R म� जाना होगा।
  

Bhaskar’s exam centre is
 भा�र का परी�ा क� � है

[Question ID = 6362]

1. D [Option ID = 25442]
2. B [Option ID = 25441]
3. A [Option ID = 25439]
4. C [Option ID = 25440]

Correct Answer :-
B [Option ID = 25441]

Four friends - Raushan,Parul, Saba and Bhaskar - are to appear for M.A. entrance exams in four different subjects - History, Geography,
Political Science and Sociology - not necessarily in that order. The centres for the exams are in four different colleges A, B, C and D - which
is situated in 4 different places - P, Q, R and S - not necessarily in that order. It is also known that: Parul’s examination center is C. The
college assigned to Sociology is B, which is situated in Q. The friend, whose exam centre is A, is to visit S to take his/her exam. Saba has
applied for History. Raushan is to visit R to take his exam.

 चार िम� - रौशन, पा�ल, साबा और भा�र - चार िविभ� िवषयो ंइितहास ,भूगोल, राजनीित िव�ान और समाजशा� से (इसी �म म� नही)ं एम.ए. �वेश परी�ा म� बैठना
चाहते ह�। परी�ा के क� � चार िविभ� महािव�ालयो ंA, B, C और D म� है, जो चार अलग-अलग �थानो ं– P, Q, R और S (इसी �म म� नही ं) म� है। यह भी �ात है िक पा�ल
का परी�ा क� � C है। समाजशा� की परी�ा B महािव�ालय म� होनी है, जो �थान Q म� ��थत है। िजस िम� की परी�ा का क� � A है, उसे परी�ा म� बैठने के िलए �थान S म�
जाना होगा।

 साबा ने इितहास की परी�ा के िलए आवेदन िकया है और रौशन को परी�ा देने के िलए �थान R म� जाना होगा।
  

Which is the correct ‘place – centre’ combination for Saba?
 साबा के िलए सही ‘�थान-क� �’ संयोजन कौन सा है?

[Question ID = 6361]

1. S – A [Option ID = 25436]
2. S – B [Option ID = 25435]
3. Q – A [Option ID = 25437]
4. Q – B [Option ID = 25438]

Correct Answer :-
S – A [Option ID = 25436]
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Four friends - Raushan,Parul, Saba and Bhaskar - are to appear for M.A. entrance exams in four different subjects - History, Geography,
Political Science and Sociology - not necessarily in that order. The centres for the exams are in four different colleges A, B, C and D - which
is situated in 4 different places - P, Q, R and S - not necessarily in that order. It is also known that: Parul’s examination center is C. The
college assigned to Sociology is B, which is situated in Q. The friend, whose exam centre is A, is to visit S to take his/her exam. Saba has
applied for History. Raushan is to visit R to take his exam.

 चार िम� - रौशन, पा�ल, साबा और भा�र - चार िविभ� िवषयो ंइितहास ,भूगोल, राजनीित िव�ान और समाजशा� से (इसी �म म� नही)ं एम.ए. �वेश परी�ा म� बैठना
चाहते ह�। परी�ा के क� � चार िविभ� महािव�ालयो ंA, B, C और D म� है, जो चार अलग-अलग �थानो ं– P, Q, R और S (इसी �म म� नही ं) म� है। यह भी �ात है िक पा�ल
का परी�ा क� � C है। समाजशा� की परी�ा B महािव�ालय म� होनी है, जो �थान Q म� ��थत है। िजस िम� की परी�ा का क� � A है, उसे परी�ा म� बैठने के िलए �थान S म�
जाना होगा।

 साबा ने इितहास की परी�ा के िलए आवेदन िकया है और रौशन को परी�ा देने के िलए �थान R म� जाना होगा।
  

In which place is Parul’s exam centre located?
 पा�ल का परी�ा क� � िकस �थान पर ��थत है?

[Question ID = 6360]

1. Q [Option ID = 25433]
2. P [Option ID = 25432]
3. S [Option ID = 25431]
4. R [Option ID = 25434]

Correct Answer :-
P [Option ID = 25432]

Topic:- DU_J18_Bed_Topic04

In 2018, the chief guest(s) on the Republic Day celebrations in India was/were
 2018 म�, भारत के गणतं� िदवस समारोह म� मु� अितिथ थे

[Question ID = 6377]

1. Mohammad Bin Rafsanjani / मोह�द िबन रफसंजानी [Option ID = 25499]
2. Mohammad Bin Zayed al Nahyan / मोह�द िबन ज़ायद अल ना�न [Option ID = 25502]
3. Heads of BRICS nations / ि�� (BRICS) देशो के रा�� ा�� [Option ID = 25500]
4. Heads of ASEAN nations / द�ेस (ASEAN) देशो के रा�� ा�� [Option ID = 25501]

Correct Answer :-
Heads of ASEAN nations / द�ेस (ASEAN) देशो के रा�� ा�� [Option ID = 25501]

Given below are the steps to test the presence of proteins in a food item
 i. Take a small quantity of the food item in a test tube, add 10 drops of water to it and shake it.

 ii. Make a paste or powder of food to be tested.
 iii. Add 10 drops of caustic soda solution to the test tube and shake well.

 iv. Add 2 drops of copper sulphate solution to it.
 Which of the following is the correct sequence of the steps?

 नीचे िदए गए कदम, खा� पदाथ� म� �ोटीन की उप��थित का परी�ण करने के िलए ह�
 i. एक टे� �ूब म� खा� पदाथ� की थोड़ी मा�ा ल�, इसम� पानी की 10 बंूद� िमलाएं और इसे िहलाएं

 ii. िजस भोजन का परी�ण होना है, उसका एक पे� या पाउडर बनाएं
 iii. का��क सोडा के घोल की 10 बंूदो ंको परी�ण नली म� िमलाएं और इसे अ�ी तरह िहलाएं

 iv. कॉपर स�ेट के घोल की 2 बंूदो ंको इसम� िमलाएं
 िन�िल�खत म� से कौन सा कदम सही �म है?

[Question ID = 6430]

1. (i), (ii), (iv), (iii) [Option ID = 25711]
2. (ii), (i), (iii), (iv) [Option ID = 25713]
3. (ii), (i), (iv), (iii) [Option ID = 25712]
4. (iv), (ii), (i), (iii) [Option ID = 25714]

Correct Answer :-
(ii), (i), (iv), (iii) [Option ID = 25712]

Given below from (i) to (iv) are some food items.
 i. Boiled and mashed potatoes

 ii. Glucose solution
 iii. A slice of bread
 iv. Mustard oil
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Which of the above will give blue-black colour when tested with iodine?
 नीचे (i) से (iv) कुछ खा� पदाथ� िदए गए ह�

 i.उबले �ए और मसले �ए आलू
 ii. �ूकोज का घोल

 iii. रोटी का एक टुकड़ा
 iv. सरसो ंका तेल

 आयोडीन के साथ परी�ण िकए जाने पर उपरो� म� से कौन सा नीला-काला रंग देगा?

[Question ID = 6428]

1. (i), (iii) [Option ID = 25704]
2. (i), (ii) [Option ID = 25703]
3. (iii), (iv) [Option ID = 25706]
4. (ii), (iii) [Option ID = 25705]

Correct Answer :-
(i), (iii) [Option ID = 25704]

A ball is travelling with uniform translatory motion. This means that
 कोई ग�द एक समान �थानांतरीय गित कर रही है। इसका अथ� है िक [Question ID = 6410]

1. it is at rest. / यह िवराम अव�था म� है। [Option ID = 25631]
2. the path can be a straight line or circular and the ball travels with uniform speed. / इसका पथ सरल रेखीय अथवा वृ�ाकार हो सकता है और ग�द एक समान चाल से
चल रही है। [Option ID = 25632]

3. all parts of the ball have the same velocity (magnitude and direction) and the velocity is constant. / ग�द के सभी भागो ंका वेग (प�रमाण एवं िदशा) समान है तथा यह
वेग िनयत है। [Option ID = 25633]

4. the centre of the ball moves with constant velocity and the ball spins about its centre uniformly. / ग�द का क� � अचर वेग से गित करता है तथा ग�द अपने क� � के
प�रतः एक समान घूण�न करती है। [Option ID = 25634]

Correct Answer :-
all parts of the ball have the same velocity (magnitude and direction) and the velocity is constant. / ग�द के सभी भागो ंका वेग (प�रमाण एवं िदशा) समान है
तथा यह वेग िनयत है। [Option ID = 25633]

The ‘primary source’ which may not be suitable for understanding the history of colonial India is
 '�ाथिमक �ोत' जो औपिनवेिशक भारत के इितहास को समझने के िलए उपयु� नही ंहो सकता है, वह है [Question ID = 6386]

1. Land records on traditional ‘khuntkatti land system’ from Chhota Nagpur / छोटा नागपुर से िमले पारंप�रक 'खँूटक�ी भूिम �व�था' के भू-अिभलेख [Option ID =
25537]

2. Novels written by Saadat Hasan Manto / A. सादत हसन मंटो �ारा िलखे गए उप�ास [Option ID = 25535]
3. Punch marked coins excavated at Atranjikhera / अतरंजीखेड़ा म� खुदाई से िनकले आहत िस�े [Option ID = 25536]
4. Oral records of an Octogenarian jailor at the ‘Kaala Paani’ / ‘काला पानी’ के एक अ�ी साल के जेलर के मौ�खक अिभलेख [Option ID = 25538]

Correct Answer :-
Punch marked coins excavated at Atranjikhera / अतरंजीखेड़ा म� खुदाई से िनकले आहत िस�े [Option ID = 25536]

Following are some features of plants
 i. They lose a lot of water through transpiration.

 ii. Their leaves are always broad and flat.
 iii. They lose very little water through transpiration.

 iv. Their roots grow very deep into the soil.
 Which of the combination of above features are typical of desert plants?

  
पौधो ंकी कुछ िवशेषताएं िन�िल�खत ह�

 i. वे वा�ो�ज�न के मा�म से ब�त सारे पानी उ�िज�त कर देते ह�|
 ii. उनकी पि�यां हमेशा �ापक और सपाट होती ह�|

 iii. वे ��ारोपण के मा�म से ब�त कम पानी उ�िज�त कर देते ह�|
 iv. उनकी जड़� िम�ी म� ब�त गहरी जाती ह�|

 उपरो� िवशेषताओ ंका कौन सा यु� म��थलीय पौधो ंकी िविश� ल�ण की ओर इंिगत करते ह�?

[Question ID = 6398]

1. (i), (ii) [Option ID = 25586]
2. (iii), (iv) [Option ID = 25583]
3. (ii), (iv) [Option ID = 25584]
4. (ii), (iii) [Option ID = 25585]

Correct Answer :-
(iii), (iv) [Option ID = 25583]
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8)  

9)  

10)  

11)  

Reducing infant mortality helps control the growth of population by
 िन�िल�खत के �ारा, मृ�ु दर म� कमी जनसं�ा वृ�� दर को िनयंि�त करती है [Question ID = 6470]

1. protecting the health of the mother / माता के �ा� को सुरि�त करके [Option ID = 25872]
2. preventing the tendency to choose the sex of the pre-natal child / ज� पूव� िलंग के चुनाव की �वृि� को रोककर [Option ID = 25874]
3. controlling repeated child birth to compensate for the mortality / मृ�ु दर की कमी पूित� के िलए बार-बार िशशु ज� पर िनयं�ण रखकर [Option ID = 25871]
4. increasing the gap between two births / दो िशशुओ ंके ज� के बीच के अंतर को बढ़ाकर [Option ID = 25873]

Correct Answer :-
controlling repeated child birth to compensate for the mortality / मृ�ु दर की कमी पूित� के िलए बार-बार िशशु ज� पर िनयं�ण रखकर [Option ID = 25871]

In India, a village is considered electrified if
 भारत म� एक गाँव को िवद्यु ितकृत माना जाता है जब

[Question ID = 6393]

1. 10% of households and public places such as schools, panchayat office and health centres in a village have access to electricity. / गाँव के 10% घर तथा
�ूल, पंचायत काया�लय और �ा� क� � जैसे साव�जिनक �थलो ंतक िबजली प�ँच चुकी हो| [Option ID = 25566]

2. all basic infrastructure such as distribution transformer and lines are set up in the inhabited localities including Dalit hamlets. / दिलत ब��यो ंसमेत अ�
बसावटो ंम� सभी बुिनयादी ढांचे जैसे ट� ांसफाम�रो ंका िवतरण और लाइनो ंका जाल िबछाने का काम पूरा हो चुका हो| [Option ID = 25563]

3. all households have access to electricity. / सभी घरो ंम� िबजली प�ँच चुकी हो| [Option ID = 25564]
4. at least half of the inhabited areas of the village is powered through the off-grid system. / ऑफ-ि�ड संरचना �ारा गांव के बसावट के कम-से-कम आधे �े�ो ंम�
िवद्यु तीकरण हो चुकी हो| [Option ID = 25565]

Correct Answer :-
10% of households and public places such as schools, panchayat office and health centres in a village have access to electricity. / गाँव के 10% घर तथा
�ूल, पंचायत काया�लय और �ा� क� � जैसे साव�जिनक �थलो ंतक िबजली प�ँच चुकी हो| [Option ID = 25566]

If one of the zeroes of the cubic polynomial x3 + ax2 + bx + c is –1, then the product of the other two zeroes is
 यिद ि�घात ब�पद के शु�को ंम� से एक, x3 + ax2 + bx + c , –1 है, तो अ� दो शु�को ंका गुणनफल है

[Question ID = 6374]

1. a – b + 1 [Option ID = 25489]
2. a – b –1 [Option ID = 25490]
3. b – a – 1 [Option ID = 25488]
4. b – a + 1 [Option ID = 25487]

Correct Answer :-
b – a + 1 [Option ID = 25487]

Rabbi, sitting on the last bench in a class, can read the words written on the black board but is not able to read the letters written in
her text book. This is because

 क�ा म� सबसे पीछे ब�च पर बैठी र�ी �ामप� पर िलखे अ�रो ंको पढ़ सकती है, पर�ु पा� पु�क म� िलखे अ�रो ंको नही ंपढ़ पाती | ऐसा इसिलए ह� �ोिंक

[Question ID = 6415]

1. the far point of Rabbi's eyes has receded away / र�ी के ने� का दूर िबंदु उससे दूर हो गया है| [Option ID = 25654]
2. the far point of Rabbi's eyes has come closer to her / र�ी के ने� का दूर िबंदु उसके पास आ गया है| [Option ID = 25653]
3. the near point of Rabbi's eyes has receded away / र�ी के ने� का िनकट िबंदु उससे दूर हो गया है| [Option ID = 25651]
4. the near point of Rabbi's eyes has come closer to her / र�ी के ने� का िनकट िबंदु उसके पास आ गया है| [Option ID = 25652]

Correct Answer :-
the near point of Rabbi's eyes has come closer to her / र�ी के ने� का िनकट िबंदु उसके पास आ गया है| [Option ID = 25652]

In a two dimensional motion, instantaneous speed V0 is a positive constant. The statement which is necessairly true is
 िकसी ि�िवमीय गित म� ता�िणक चाल V0 कोई धना�क िनयतांक है। िन�िल�खत म� जो कथन अिनवाय�तः स� है, वह है

[Question ID = 6409]

1. The acceleration of the particle is necessarily in the plane of motion. / कण का �रण अिनवाय�तः गित के तल म� है। [Option ID = 25629]
2. The acceleration of the particle is zero. / कण का �रण शू� है। [Option ID = 25627]
3. The acceleration of the particle is bounded. / कण का �रण प�रब� है। [Option ID = 25628]
4. The particle must be undergoing a uniform circular motion / कण को एक समान वृ�ीय गित करनी चािहए। [Option ID = 25630]

Correct Answer :-
The acceleration of the particle is necessarily in the plane of motion. / कण का �रण अिनवाय�तः गित के तल म� है। [Option ID = 25629]
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12)  

13)  

14)  

15)  

16)  

In an activity, Maria dissolved a small amount of solid copper sulphate in a tumbler half filled with water. Which method would she
use to get back solid copper sulphate from the solution?

 एक गितिविध म�, मा�रया ने पानी से आधे भरे िगलास म� थोड़ी मा�ा म� ठोस कॉपर स�ेट को घोल िदया | घोल म� से ठोस तांबा स�ेट वापस पाने के िलए वह िकस िविध का
उपयोग करेगी?

[Question ID = 6420]

1. Sedimentation / अवसादन [Option ID = 25673]
2. Condensation / संघनन [Option ID = 25674]
3. Evaporation / वा�ीकरण [Option ID = 25672]
4. Decantation / िन�ारण [Option ID = 25671]

Correct Answer :-
Evaporation / वा�ीकरण [Option ID = 25672]

In a class of thirty three students, Rohit’s rank is 12th from the top, but his twin brother Sahil is 4 ranks above from him. What is
Sahil’s rank from the bottom?

 त�तीस छा�ो ंके एक वग� म�, रोिहत का �थान शीष� से 12 वां है, लेिकन उसके जुड़वां भाई सािहल उससे चार �थान ऊपर है। नीचे से सािहल का �थान �ा है?

[Question ID = 6366]

1. 26 [Option ID = 25457]
2. 25 [Option ID = 25455]
3. 21 [Option ID = 25456]
4. 29 [Option ID = 25458]

Correct Answer :-
26 [Option ID = 25457]

‘Population distribution’ refers to
 ‘जनसं�ा िवतरण’ श� से ता�य� है [Question ID = 6406]

1. the number of people who die in relation to the number of people born in a specified area. / िकसी िविश� �े� म� ज� लेने वाले लोगो ंके स�भ� म� मृ�ु �ा� करने
वाले लोगो ंकी सं�ा [Option ID = 25616]

2. how population in a specified area changes over time. / िकसी िविश� �े� म� समय के साथ जनसं�ा म� िकस �कार प�रवत�न होता है| [Option ID = 25615]
3. the way in which people are spread across a given area. / िकसी िदए �ए �े� म� लोग िकस �प म� िवत�रत ह�| [Option ID = 25617]
4. a graphical presentation of the age and sex composition of a population / आबादी की आयु और िलंग संरचना की एक आले�खत ��ुित [Option ID = 25618]

Correct Answer :-
the way in which people are spread across a given area. / िकसी िदए �ए �े� म� लोग िकस �प म� िवत�रत ह�| [Option ID = 25617]

Kabir wants to present her friend a gift made of plant-fiber. Which out of the following will he select?
 कबीर अपने दो� को पादप तंतु से बना उपहार देना चाहता है। वह िन�िल�खत म� से कौन सा चयन करेगा ?

[Question ID = 6431]

1. Woolen shawl / ऊनी शाल [Option ID = 25716]
2. Jute bag / पटसन/जूट का थैला [Option ID = 25715]
3. Nylon scarf / नायलॉन का दुप�ा [Option ID = 25718]
4. Silk saree / रेशमी साड़ी [Option ID = 25717]

Correct Answer :-
Jute bag / पटसन/जूट का थैला [Option ID = 25715]

With the emergence of a new culture of print in twentieth century India, the effects of novels on readers included
 i. advising people to stay away from the immoral influence of novels; some parents keeping novels in the lofts in their houses, out of their

children’s reach
 ii. making it mandatory for women and children to read novels as they were not easily corruptible

 iii. young people often reading them in secret
 iv. older women- some of whom could not read- listening with fascinated attention to popular Tamil novels read out to them by their

grandchildren- a nice reversal of the familiar grandma’s tales
  

बीसवी ंशता�ी भारत म� मु�ण (ि�ंट) की एक नई सं�ृित के उ�व के साथ, पाठको ंपर उप�ासो ंके �भावो ंम� शािमल था
 i. लोगो ंको सलाह देना िक वे उप�ासो ंके नैितक दु�भाव से बच�; कुछ अिभभावको ं�ारा उप�ासो ंका अपने ब�ो ंकी प�ँच से दूर छ�े पर िछपाकर रखना

 ii. मिहलाओ ंऔर ब�ो ंके िलए उप�ास पढ़ना अिनवाय� बनाना, �ोिंक उ�� आसानी से �िमत नही ंिकया जा सकता था
 iii. युवाओ ं�ारा अ�र इ�� चोरी-िछपे पढ़ा जाना

 iv. बड़ी-बूढ़ी मिहलाएँ, जो आमतौर पर पढ़ी-िलखी नही ंथी,ं उनके �ारा लोकि�य तिमल उप�ासो ंको उनके पोते-पोितयो ं�ारा पढ़े जाने पर बड़ी त�ीनता से सुना जाना, जो
िक दादी-नानी की जानी-पहचानी कहािनयो ंसे एकदम उलट थी ं

[Question ID = 6384]
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17)  

18)  

19)  

20)  

1. (i), (ii), (iii) [Option ID = 25527]
2. (i), (ii), (iv) [Option ID = 25528]
3. (i), (iii), (iv) [Option ID = 25529]
4. (iv)  [Option ID = 25530]

Correct Answer :-
(i), (iii), (iv) [Option ID = 25529]

In the context of ‘communalism’, the incorrect statement is
 ‘सा�दाियकता’ के स�भ� म�, जो कथन स� नही ंहै, वह है [Question ID = 6391]

1. Communalism seeks to define community identity as fundamental and fixed. / सा�दाियकता सामुदाियक पहचान को बुिनयादी और अटल मानती है| [Option ID =
25556]

2. Communalism attempts to consolidate community identity and present it as natural- as if people were born into the identity, as if the identities do not
evolve through history over time. / सा�दाियकता सामुदाियक पहचान को एक �ाभािवक अ��ता मानकर ��ुत करती है, मानो लोग ऐसी पहचान लेकर पैदा �ए हो,ं मानो
अ��ताएँ इितहास और समय के दौर से गुज़रते �ए बदलती नही ंह�| [Option ID = 25557]

3. Communalism encourages distinctions within the community and underplays the essential unity of the community against other communities /
सा�दाियकता िकसी भी समुदाय म� आतं�रक फ़क� को बढ़ावा देती है और उस समुदाय की मूलभूत एकता को अ� समुदायो ंके िव�� अपूण� �प से संपािदत करती है| [Option
ID = 25558]

4. Communalism is a politics that seeks to unify one community around a religious identity in hostile opposition to another community. / सा�दाियकता उस
राजनीित को कहा जाता है, जो धािम�क समुदायो ंके बीच िवरोध और झगड़े पैदा करती है| [Option ID = 25555]

Correct Answer :-
Communalism encourages distinctions within the community and underplays the essential unity of the community against other communities /
सा�दाियकता िकसी भी समुदाय म� आतं�रक फ़क� को बढ़ावा देती है और उस समुदाय की मूलभूत एकता को अ� समुदायो ंके िव�� अपूण� �प से संपािदत करती है|
[Option ID = 25558]

In the context of ‘gender’, the statements which will not be acceptable is
 ‘ज�डर’ के स�भ� म� जो कथन �ीकाय� नही ंहै, वह है [Question ID = 6407]

1. Gender concerns need to be addressed in terms of making the perspectives of women integral to the discussion of any contemporary concern. / िकसी भी
समकालीन �संग की चचा� म� मिहलाओ ंके �ि�कोणो ंको समाकिलत करना, ज�डर मु�ो ंको संबोिधत करने के िलए आव�क है| [Option ID = 25622]

2. Gender refers to a range of characteristics used to distinguish between males and females and the masculine and feminine attributes that they possess. /
ज�डर पु�षो ंऔर मिहलाओ ंऔर उनके �ारा पु�ष� और �ी� की िवशेषताओ ंके बीच अंतर करने के िलए उपयोग की जाने वाली िवशेषताओ ंकी एक �ंृखला को संदिभ�त करता है।
[Option ID = 25620]

3. Gender is a social construct. / ज�डर एक सामािजक िनिम�ती है| [Option ID = 25621]
4. The term ‘gender’ is a biological construct. / ‘ज�डर’ अवधारणा एक जैिवक िनिम�ती है | [Option ID = 25619]

Correct Answer :-
The term ‘gender’ is a biological construct. / ‘ज�डर’ अवधारणा एक जैिवक िनिम�ती है | [Option ID = 25619]

In the context of contemporary debates on 'dates and periods' of Indian history, the correct statement would be
 भारतीय इितहास के 'ितिथयो ंऔर काल' के समसामियक वाद-िववाद के संदभ� म� सही कथन होगा [Question ID = 6389]

1. a chronological division based on ‘Ancient-Medieval-Modern’ periods is correct as symbols of modernity- science, reason, liberty, equality and democracy-
came into existence only in the modern period / ‘�ाचीन-म�-आधुिनक’ काल �मब�ता पर आधा�रत िवभाजन सही है �ोिंक आधुिनकता के �तीक - िव�ान, तक� ,
�तं�ता, समानता और लोकतं�- केवल आधुिनक काल म� ही अ��� म� आए [Option ID = 25549]

2. a periodisation like ‘Hindu-Muslim-British’ is appropriate as the religion of the rulers has been the only important historical change / ‘िहंदू-मु��म-ि�िटश’ जैसी
कालाविध उपयु� है, �ोिंक शासको ंका धम� ही एकमा� मह�पूण� ऐितहािसक प�रवत�न रहा है [Option ID = 25548]

3. it is problematic to assign precise dates and time spans to ‘historical processes’ that happend over a period of time. / ल�ी समयाविध म� घिटत होने वाली
‘ऐितहािसक �ि�याओ’ं को िनि�त ितिथयो ंऔर काल िवभाजनो ंके अंतग�त लाना सम�ा�क है [Option ID = 25550]

4. a division like ‘Hindu-Muslim-British’ periods is correct as a variety of faiths did not exist simultaneously in all these periods / ‘िहंदू-मु��म-ि�िटश’ कालाविध
जैसे िवभाजन एकदम सही है, �ोिंक इन सभी अविधयो ंम� िविभ� �कार की आ�थाएं एक साथ मौजूद नही ंथी ं[Option ID = 25547]

Correct Answer :-
it is problematic to assign precise dates and time spans to ‘historical processes’ that happend over a period of time. / ल�ी समयाविध म� घिटत होने वाली
‘ऐितहािसक �ि�याओ’ं को िनि�त ितिथयो ंऔर काल िवभाजनो ंके अंतग�त लाना सम�ा�क है [Option ID = 25550]

Many organic substances are negatively charged e.g. acetic acid, while others are positively charged e.g. ammonium ion. An amino
acid under certain conditions would have both positive and negative charges simultaneously in the same molecule. Such a form of amino
acid is called

 अनेक काब�िनक पदाथ�, जैसे ऐसीिटक अ�, ऋणा�क �प से आवेिशत होते ह�, जबिक अ� पदाथ� जैसे अमोिनयम आयन, धना�क �प से आवेिशत होते ह�। कुछेक
प�र��थितयो ंम� ऐमीनो अ� का एक ही अणु एक साथ धना�क और ऋणा�क दोनो ं�कार से आवेिशत हो सकता है। ऐसे एमीनो अ� को कहा जाता है [Question ID =
6425]

1. Positively charged form / धना�कत आवेिशत �प [Option ID = 25691]
2. Zwitterionic form / ����रआयिनक �प [Option ID = 25694]
3. Neutral form / उदासीन �प [Option ID = 25693]
4. Negatively charged form / ऋणा�कत आवेिशत �प [Option ID = 25692]
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Correct Answer :-
Zwitterionic form / ����रआयिनक �प [Option ID = 25694]

The properties of magnet can be preserved by
 चु�क के गुणो ंको सुरि�त रखा जा सकता है [Question ID = 6414]

1. heating a magnet / चु�क को गम� करके [Option ID = 25649]
2. keeping a piece of iron across the poles of horse-shoe magnet / नाल चु�क के �ुवो ंके संपक�  म� लोहे का एक टुकड़ा रखकर [Option ID = 25647]
3. keeping magnets with cassettes, cell phones, television and the computer / चु�क को कैसेट, सेल फोन, टेलीिवज़न और कं�ूटर के समीप रखकर [Option ID =

25650]
4. keeping bar magnets in pairs with their like poles on the same side / छड़ चु�क के जोड़ो ंके समान �ुवो ंको पास-पास रखकर [Option ID = 25648]

Correct Answer :-
keeping a piece of iron across the poles of horse-shoe magnet / नाल चु�क के �ुवो ंके संपक�  म� लोहे का एक टुकड़ा रखकर [Option ID = 25647]

A vesselless piece of stem possessing prominent sieve tubes would belong to
 �ंभ के वािहकारिहत टुकड़े म� जो �� चालनी नािलकाएँ पाई जाती ह�, उनका संबंध है [Question ID = 6424]

1. Pinus / चीड़ से [Option ID = 25687]
2. Trochodendron / ट� ोकोड�ड� ॉन से [Option ID = 25690]
3. Eucalyptus / यूकेिल�स से [Option ID = 25688]
4. Grass / घास से [Option ID = 25689]

Correct Answer :-
Trochodendron / ट� ोकोड�ड� ॉन से [Option ID = 25690]

The Public Policy matched correctly is
 इनम� से सुमेिलत साव�जिनक नीित है [Question ID = 6397]

1. Padhe Bharat Badhe Bharat----Scholarship for students of North East India / पढ़े भारत बढ़े भारत ----उ�र-पूव� भारत के छा�ो ंके िलए छा�वृि� [Option ID =
25580]

2. Ishan Uday ----------------------Scholarship for differently abled children / ईशान उदय ------------- िद�ांगजनो ंके िलए छा�वृि� [Option ID = 25579]
3. Saksham -------------------------Ensuring quality at classes 1 and 2 / स�म ------------------- क�ा 1 तथा 2 म� गुणव�ा सुिनि�त करना [Option ID = 25581]
4. Pragati ------------------------ Scholarship for girl child for Technical education / �गित ------------------ बािलकाओ ंको तकनीकी िश�ा के िलए दी जाने वाली छा�वृि�

[Option ID = 25582]

Correct Answer :-
Pragati ------------------------ Scholarship for girl child for Technical education / �गित ------------------ बािलकाओ ंको तकनीकी िश�ा के िलए दी जाने वाली
छा�वृि� [Option ID = 25582]

The statement which is incorrect in the context of growth of nationalism in India is that
 भारत म� रा�� वाद के िवकास के संदभ� म� गलत कथन यह है िक [Question ID = 6387]

1. the Congress under Mahatma Gandhi tried to forge different groups together within one movement / महा�ा गांधी के नेतृ� म� कां�ेस ने िविभ� समुदायो ंको एक
आंदोलन के िलए तैयार िकया [Option ID = 25541]

2. each class and group felt the effects of colonialism in a similar way, their experiences and their notions of freedom were always the same / ��ेक वग� और
समुदाय ने उपिनवेशवाद के �भावो ंको एक ही तरह से महसूस िकया, उनके अनुभव और �तं�ता के िवचार सदैव एक समान थे [Option ID = 25539]

3. the growth of modern nationalism is intimately connected to the anti-colonial movement / आधुिनक रा�� वाद का िवकास औपिनवेिशक-िवरोधी आंदोलन से घिन� �प
से जुड़ा �आ है [Option ID = 25542]

4. a sense of being oppressed under colonialism provided a shared bond that tied many different groups together / उपिनवेशवाद के तहत उ�ीिड़त होने की भावना
ने एक साझा स�� िवकिसत िकया, िजसने िविभ� समुदायो ंको एक साथ जोड़ने का काम िकया [Option ID = 25540]

Correct Answer :-
each class and group felt the effects of colonialism in a similar way, their experiences and their notions of freedom were always the same / ��ेक वग�
और समुदाय ने उपिनवेशवाद के �भावो ंको एक ही तरह से महसूस िकया, उनके अनुभव और �तं�ता के िवचार सदैव एक समान थे [Option ID = 25539]

The statement which is true regarding participation of various classes and social groups during the Civil Disobedience Movement is
 सिवनय अव�ा आंदोलन के दौरान िविभ� वग� और सामािजक समुदायो ंकी भागीदारी के संबंध म� जो कथन स� है, वह है [Question ID = 6388]

1. industrial working class participated in large numbers throughout India / औ�ोिगक मजदूर वग� ने पूरे भारत म� बड़ी सं�ा म� भाग िलया [Option ID = 25545]
2. dalits' participation was strong especially in Maharashtra / दिलतो ंकी भागीदारी �बल थी, िवशेष �प से महारा��  म� [Option ID = 25543]
3. rich peasants communities like Patidars and Jats were not active in the movement / आंदोलन म� पाटीदार और जाट जैसे समृ� िकसान समुदाय सि�य नही ंथे [Option

ID = 25546]
4. women from high caste families and rich peasant households participated in large scale / उ� जाित की मिहलाओ ंऔर समृ� िकसान प�रवारो ंने बड़े पैमाने पर भाग
िलया [Option ID = 25544]

Correct Answer :-
women from high caste families and rich peasant households participated in large scale / उ� जाित की मिहलाओ ंऔर समृ� िकसान प�रवारो ंने बड़े पैमाने पर
भाग िलया [Option ID = 25544]
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The statement which is not true regarding the characteristic of minerals is / िन�िल�खत म� से कौन का कथन खिनजो ंकी िवशेषता के स�भ� म� सही
नही ंह� [Question ID = 6402]

1. their distribution is uneven / उनका िवतरण असमान होता है [Option ID = 25602]
2. they are created by natural processes / वे �ाकृितक �ि�याओ ं�ारा िनिम�त होते ह� [Option ID = 25599]
3. they are inexhaustible / वे असमा� होते ह� [Option ID = 25601]
4. they have a definite chemical composition / उनका एक िनि�त रासायिनक संगठन होता है [Option ID = 25600]

Correct Answer :-
they are inexhaustible / वे असमा� होते ह� [Option ID = 25601]

Raka went to wildlife sanctuary where she saw dense vegetation of trees, shrubs, herbs and also a variety of animals like monkeys,
birds, elephants, snakes, frogs etc. The most likely location of this sanctuary is in the

 राका व�जीव अभयार� म� गई जहाँ उसने पेड़, झािड़याँ, जड़ी बूिटयाँ और बंदर, प�ी, हाथी, सांप, म�ढक आिद जैसे िविभ� �कार के जानवरो ंको देखा। इस अभयार� का
सबसे संभािवत �थान है

[Question ID = 6399]

1. polar region / �ुवीय �े� [Option ID = 25589]
2. temperate region / समशीतो� �े� [Option ID = 25587]
3. tropical region / उ�किटबंधीय �े� [Option ID = 25588]
4. coastal region / तटीय �े� [Option ID = 25590]

Correct Answer :-
tropical region / उ�किटबंधीय �े� [Option ID = 25588]

The practice which will not conserve LPG in your kitchen is
 आपकी रसोई म� एल.पी. जी. संरि�त न होने के कारण हो सकते ह� [Question ID = 6401]

1. soaking dal for some time before cooking it / पकाने से पहले कुछ समय के िलए दाल िभगो ंकर रखना [Option ID = 25595]
2. keeping the vegetables chopped before lighting the gas for cooking / गैस जलाने के पहले स��याँ काट कर रखना [Option ID = 25597]
3. cooking food in a pressure cooker / �ेशर कूकर म� भोजन पकाना [Option ID = 25596]
4. cooking food in an open pan kept on low flame / धीमी गैस पर खुले बत�न म� भोजन पकाना [Option ID = 25598]

Correct Answer :-
cooking food in an open pan kept on low flame / धीमी गैस पर खुले बत�न म� भोजन पकाना [Option ID = 25598]

If the circumference of a circle and the perimeter of a square are equal, then
 यिद एक वृ� की प�रिध और एक वग� का प�रमाप बराबर है, तो

[Question ID = 6376]

1. Nothing definite can be said about the relation between the areas of the circle and square. / वृ� और वग� के �े�फलो ंके बीच के स�� म� िनि�त �प से कुछ नही ं
कहा जा सकता [Option ID = 25498]

2. Area of the circle = Area of the square / वृ� का �े�फल = वग� का �े�फल [Option ID = 25495]
3. Area of the circle < Area of the square/वृ�  का �े�फल < वग� का �े�फल वग� [Option ID = 25497]
4. Area of the circle > Area of the square / वृ� का �े�फल > वग� का �े�फल [Option ID = 25496]

Correct Answer :-
Area of the circle > Area of the square / वृ� का �े�फल > वग� का �े�फल [Option ID = 25496]

If the time of sunrise in Arunachal Pradesh is 6.00 A.M. then the probable time of sunrise in Gujarat will be
 यिद अ�णाचल �देश म� सूय�दय का समय 6.00 A.M. है तो गुजरात म� अनुमािनत समय होगा

[Question ID = 6400]

1. 6.30 A.M. [Option ID = 25591]
2. 8.00 A.M. [Option ID = 25592]
3. 5.30 A.M. [Option ID = 25593]
4. 7.00 A.M. [Option ID = 25594]

Correct Answer :-
8.00 A.M. [Option ID = 25592]

A person suffers punctures in his chest cavity in an accident, without any damage to the lungs. Its effect could be
 िकसी दुघ�टना म� एक ��� के सीने म� फेफड़ो ंको िबना �ित प�ँचाए सुराख हो जाते ह�। यह �भािवत कर सकता है [Question ID = 6422]

1. reduced breathing rate / साँस की दर म� कमी [Option ID = 25679]
2. cessation of breathing / साँस का �क जाना [Option ID = 25682]

www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



www.F
irs

tR
an

ke
r.c

om

32)  

33)  

34)  

35)  

3. no change in respiration / �सन म� कोई प�रवत�न नही ं[Option ID = 25681]
4. rapid increase in breathing rate / साँस की दर म� ती� वृ�� [Option ID = 25680]

Correct Answer :-
cessation of breathing / साँस का �क जाना [Option ID = 25682]

The converse of the statement ‘If Bunty secures good marks, then he will get a bicycle’, is
 िन�िल�खत म� से कौन-सा कथन ‘यिद बंटी अ�े अंक �ा� करेगा, तो उसे एक साइिकल िमलेगी’ का िवलोम है? [Question ID = 6369]

1. if Bunty will not get bicycle, then he will not secure good marks
 यिद बंटी को साइिकल नही ंिमलेगी, तो वह अ�े अंक नही ं�ा� करेगा [Option ID = 25467]

2. if Bunty will not get a bicycle, then he will secure good marks
 यिद बंटी को साइिकल नही ंिमलेगी, तो वह अ�े अंक �ा� करेगा [Option ID = 25470]

3. if Bunty will get a bicycle, then he will not secure good marks
 यिद बंटी को साइिकल िमलेगी, तो वह अ�े अंक नही ं�ा� करेगा [Option ID = 25469]

4. if Bunty will get a bicycle, then he will secure good marks
 यिद बंटी को साइिकल िमलेगी, तो वह अ�े अंक �ा� करेगा [Option ID = 25468]

Correct Answer :-
if Bunty will get a bicycle, then he will secure good marks

 यिद बंटी को साइिकल िमलेगी, तो वह अ�े अंक �ा� करेगा [Option ID = 25468]

In the following question, a statement of Assertion (A) followed by a statement of Reason (R) is given. Choose the correct option out
of the choices given below.

 िन�िल�खत �� म� अिभकथन और तक�  के कथन िदए ह� | नीचे िलखे िवक�ो ंम� से सही िवक� का चयन कीिजए |
 Assertion (A) : Ozone is destroyed by solar radiation in upper stratosphere. Reason (R) : Thinning of the ozone layer allows excessive

Ultravoilet radiations to reach the surface of earth.
 अिभकथन (A) – सौर-िविकरण �ारा ऊपरी संताप मंडल म� ओज़ोन न� हो जाती है | तक�  (R) – ओज़ोन परत के पतली पड़ने पर अ�िधक पराब�गनी िविकरण भू – पृ� पर

प�ंच जाते ह� |

[Question ID = 6418]

1. Both A and R are correct but R is not the correct explanation of A. / A और R दोनो ंसही ह� पर�ु R, A का सही ��ीकरण नही ंहै। [Option ID = 25664]
2. Both A and R are correct and R is the correct explanation of A. / A और R दोनो ंसही ह� एवं R, A का सही ��ीकरण है। [Option ID = 25663]
3. Both A and R are not correct. / A और R दोनो ंसही नही ंह� | [Option ID = 25665]
4. A is not correct but R is correct. / A सही नही ंहै पर�ु R सही है। [Option ID = 25666]

Correct Answer :-
A is not correct but R is correct. / A सही नही ंहै पर�ु R सही है। [Option ID = 25666]

In the following question, a statement of Assertion (A) followed by a statement of Reason (R) is given. Choose the correct option out
of the choices given below.

 िन�िल�खत �� म� अिभकथन और तक�  के कथन िदए ह� | नीचे िलखे िवक�ो ंम� से सही िवक� का चयन कीिजए |
 Assertion (A) : Spontaneous process is an irreversible process and may be reversed by some external agency. Reason (R) : Decrease in

enthalpy is a contributory factor for spontaneity.
 अिभकथन (A) - �तः �वित�त ��म एक अनु��मणीय ��म है और िकसी बा� कम�क �ारा उ�िमत हो सकता है। तक�  (R) - �तः �वित�ता के िलए ए�ै�ी म� कमी एक

योगदायी कारक है।

[Question ID = 6417]

1. Both A and R are true but R is not the correct explanation of A. / A और R दोनो ंसही ह� पर�ु R, A का सही ��ीकरण नही ंहै। [Option ID = 25660]
2. Both A and R are true and R is the correct explanation of A. / A और R दोनो ंसही ह� एवं R, A का सही ��ीकरण है। [Option ID = 25659]
3. A is false but R is true / A गलत है पर�ु R सही है। [Option ID = 25662]
4. A is true but R is false. / A सही है पर�ु R गलत है। [Option ID = 25661]

Correct Answer :-
Both A and R are true but R is not the correct explanation of A. / A और R दोनो ंसही ह� पर�ु R, A का सही ��ीकरण नही ंहै। [Option ID = 25660]

In the following question, a statement of Assertion (A) followed by a statement of Reason (R) is given. Choose the correct option out
of the choices given below.

 िन�िल�खत �� म� अिभकथन और तक�  के कथन िदए ह� | नीचे िलखे िवक�ो ंम� से सही िवक� का चयन कीिजए |
 Assertion (A): For any chemical reaction at a particular temperature, the equilibrium constant is fixed and is a characteristic property.

Reason (R): Equilibrium constant is independent of temperature.
 अिभकथन (A) - िनयत ताप पर िकसी रासायिनक अिभि�या के स�� होने के िलए सा� ��थरांक िनयत होता है और यह उसका अिभल�िणक गुणधम� है। तक�  (R) - सा�

��थरांक ताप पर िनभ�र नही ंकरता

[Question ID = 6416]

1. Both A and R are true but R is not correct explanation of A. / A और R दोनो ंसही ह� पर�ु R, A का सही ��ीकरण नही ंहै। [Option ID = 25656]
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2. Both A and R are true and R is correct explanation of A. / A और R दोनो ंसही ह� एवं R, A का ��ीकरण तक�  है। [Option ID = 25655]
3. Both A and R are false. / A और R दोनो ंगलत है। [Option ID = 25658]
4. A is true but R is false. / A सही है पर�ु R गलत है। [Option ID = 25657]

Correct Answer :-
A is true but R is false. / A सही है पर�ु R गलत है। [Option ID = 25657]

In the following question, a statement of Assertion (A) followed by a statement of Reason (R) is given. Choose the correct option out
of the choices given below.

 िन�िल�खत �� म� अिभकथन और तक�  के कथन िदए ह� | नीचे िलखे िवक�ो ंम� से सही िवक� का चयन कीिजए |
 Assertion (A): Gases do not liquify above their critical temperature, even on applying high pressure. Reason (R): Above critical

temperature, the molecular speed is high and intermolecular attractions cannot hold the molecules together because they escape due to
high speed.

 अिभकथन (A) - अपने �ांितक ताप से अिधक ताप पर गैस� उ� दाब लगाने पर भी �िवत नही ंहोती।ं तक�  (R) - �ांितक ताप से अिधक ताप पर, अणुओ ंकी गित अ�िधक
होती है और अ�रा अणुक बल अणुओ ंको साथ नही ंरख पाते �ोिंक गित अिधक होने के कारण वह जुड़ने से बच जाते ह�।

[Question ID = 6419]

1. Both A and R are true but R is not the correct explanation of A. / A और R दोनो ंसही ह� पर�ु  R, A का सही तक�  ��ीकरण है। [Option ID = 25668]
2. Both A and R are true and R is the correct explanation of A. / A और R दोनो ंसही ह� एवं R, A का सही ��ीकरण है। [Option ID = 25667]
3. A is false but R is true / A गलत है पर�ु R सही है। [Option ID = 25670]
4. A is true but R is false. / A सही है पर�ु R गलत है। [Option ID = 25669]

Correct Answer :-
Both A and R are true and R is the correct explanation of A. / A और R दोनो ंसही ह� एवं R, A का सही ��ीकरण है। [Option ID = 25667]

In the context of ‘protectionism’, the true statements would be
 i. it is a policy to protect the domestic industries from foreign competition.

 ii. it is done by imposing tariffs on foreign goods,allocating import quotas and resorting to other trade regulations.
 iii. it enhances free flow of goods and services internationally and is a departure from free trade.

 iv. protectionist policies have been significantly reduced in most countries through negotiations under ‘GATT’ and ‘WTO’.
  

‘संरं�णवाद’ के स�भ� म�, सही कथन ह�
 i. यह देशीय उ�ोगो ंको िवदेशी �ित�धा� से बचाने की नीित है|

 ii. यह िवदेशी व�ुओ ंपर सीमा–शु� लगाकर, आयात कोटा बांटकर और अ� �ापार िनयमो ंका आ�य लेकर िकया जाता है|
 iii. इसके अंतग�त अ�रा�� ीय �र पर व�ुओ ंऔर सेवाओ ंके मु� �वाह को बढ़ावा देना तथा मु� �ापार से परे हटना है|

 iv. संर�णा�क नीितयो ंको अिधकांश देशो ंम� ‘गैट’ तथा ‘ड�ू.टी.ओ.’ के अंतग�त िकए गए समझौतो ं�ारा काफी हद तक कम कर िदया गया है|

[Question ID = 6404]

1. (i), (iv) [Option ID = 25608]
2. (i), (ii), (iii), (iv) [Option ID = 25610]
3. (i), (ii), (iii) [Option ID = 25607]
4. (i), (ii), (iv) [Option ID = 25609]

Correct Answer :-
(i), (ii), (iv) [Option ID = 25609]

In the context of ‘Human Development Index’ (HDI), the true statements would be
 i. it is a composite index of outcome indicators to measure level of social and economic development of a country.

 ii. it is based on three dimensions: life expectancy at birth, mean years of schooling and literacy rate and standard of living.
 iii. the HDI makes it possible to analyse the changes in development levels of different countries over time for the purpose of comparison.

 iv. HDI has the explicit purpose to shift the focus of development economics from people-centered policies to national income accounting.
  

मानव िवकास सूचकांक (HDI) के स�भ� म� सही कथन ह�
 i. यह देश के सामािजक तथा आिथ�क िवकास के �र को मापने के प�रणामी संकेतको ंका समेिकत सूचकांक है|

 ii. यह तीन आयामो-ंज� के समय जीवन की ��ाशा ,िव�ालय म� मा� वष� और सा�रता दर तथा रहन-सहन के �र- पर आधा�रत है|
 iii. मानव िवकास सूचकांक (HDI) तुलना के उ�े� से समय के साथ िविभ� देशो ंके �रो ंम� प�रवत�नो ंका िव�ेषण करना संभव बनाता है|

 iv. मानव िवकास सूचकांक (HDI) का �� उ�े�, िवकास अथ�शा� के के�ीय भाव को जन- क� ि�त नीितयो ंसे रा�� ीय आय लेखांकन की ओर �थानांत�रत करने का है|

[Question ID = 6405]

1. (i), (iv) [Option ID = 25612]
2. (i), (ii), (iii) [Option ID = 25613]
3. (i), (iii), (iv) [Option ID = 25611]
4. (ii), (iii), (iv) [Option ID = 25614]

Correct Answer :-
(i), (ii), (iii) [Option ID = 25613]
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In the context of Delhi Sultanate, the authors of tawarikh (histories)
 िद�ी स�नत के स�भ� म� तवारीख़ (इितहास) के लेखक

[Question ID = 6390]

1. lived mostly in the villages to understand the lives of the masses / जनता के जीवन को समझने के िलए �ादातर गांवो ंम� रहते थे [Option ID = 25552]
2. often wrote objective histories for Sultans without any hope of rich rewards / ब�मू� पुर�ारो ंकी उ�ीद के िबना सु�ानो ंके िलए व�ुिन� इितहास िलखा करते थे

[Option ID = 25553]
3. were learned men who both recounted events and advised rulers on governance and just rule / �िशि�त लोग थे, िज�ोनें घटनाओ ंका वण�न िकया और साथ ही
शासको ंको िन�� शासन करने की सलाह दी [Option ID = 25551]

4. advised rulers on the need to preserve a social order without any distinction based on birth and gender / ज� और िलंग के आधार पर िबना िकसी भेद-भाव के
सामािजक संरचना को संरि�त रखने की सलाह देते थे [Option ID = 25554]

Correct Answer :-
were learned men who both recounted events and advised rulers on governance and just rule / �िशि�त लोग थे, िज�ोनें घटनाओ ंका वण�न िकया और साथ ही
शासको ंको िन�� शासन करने की सलाह दी [Option ID = 25551]

Natavar met with an accident in which two long bones of hand were dislocated. Which among the following may be the possible
reason?

 नटवर की दुघ�टना म� हाथ की दोनो ंबड़ी हि�याँ (अ��थयाँ) अपने �थान से हट गई|ं िन�िल�खत म� से कौन-सा संभािवत कारण हो सकता है? [Question ID = 6427]

1. Areolar tissue break / ए�रयोलर (गित�का) ऊतक का टूटना [Option ID = 25702]
2. Ligament break / �ायु का टूटना [Option ID = 25701]
3. Break of skeletal muscle / कंकाल पेशी का टूटना [Option ID = 25700]
4. Tendon break / कंडरा का टूटना [Option ID = 25699]

Correct Answer :-
Ligament break / �ायु का टूटना [Option ID = 25701]

Sensitivity on ‘social justice’ can be encouraged in a classroom by
 i. incorporating contemporary excerpts from people’s struggles and stories of advocacy during classroom discussions

 ii. explaining the historical context of the Indian social milieu as a heterogeneous group with unequal power equations
 iii. engaging in classroom discussions on the constitutional provisions on social justice

 iv. prompt corporal punishment on the defaulting children
  

क�ा म� 'सामािजक �ाय' के �ित संवेदनशीलता को �ो�ािहत िकया जा सकता है
 i. क�ा म� िवचार-िवमश� के दौरान समकालीन जन आ�ोलनो ंऔर प�समथ�न की कहािनयो ंके अंशो ंको शािमल करके

 ii. भारतीय सामािजक प�रवेश की ऐितहािसकता के स�भ� की �ा�ा एक असमान श�� समीकरण वाले एक ब�जातीय समूह के �प म� करके
 iii. सामािजक �ाय पर आधा�रत संवैधािनक �ावधानो ंको क�ा चचा�ओ ंम� शािमल करके

 iv. क�ा के दोषी ब�ो ंको तुरंत शारी�रक दंड देकर

[Question ID = 6394]

1. (i), (ii), (iii) [Option ID = 25568]
2. (i), (ii) [Option ID = 25567]
3. (iii), (iv) [Option ID = 25570]
4. (ii), (iii), (iv) [Option ID = 25569]

Correct Answer :-
(i), (ii), (iii) [Option ID = 25568]

Brain is responsible for
 i. regulating the heart beat

 ii. critical thinking
 iii. guttation

 iv. balancing the body
  

म��� उतरदायी है
 i. �दय �ंदन के िलए
 ii. आलोचना�क िचंतन के िलए

 iii. िब�दु�ाव के िलए
 iv. शरीर का संतुलन बनाए रखने के िलए

[Question ID = 6408]

1. (i), (ii), (iii) [Option ID = 25625]
2. (i), (ii), (iv) [Option ID = 25623]
3. (i), (iii), (iv) [Option ID = 25624]
4. (ii), (iii), (iv) [Option ID = 25626]
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Correct Answer :-
(i), (ii), (iv) [Option ID = 25623]

One mapping (function) is selected at random from all the mappings of the set A = {1, 2, 3, ..., n} into itself. The probability that
the mapping selected is one to one is

  

समु�य A = {1, 2, 3, ..., n} से �यं (A म� ) सभी फलनो ंम� से एक फलन या��या चुना जाता है। चयिनत (चुने गए) फलन के एकैकी होने की �ाियकता है

[Question ID = 53382]

1.  [Option ID = 93517]

2.  [Option ID = 93514]

3.  [Option ID = 93515]

4.  [Option ID = 93516]

Correct Answer :-

 [Option ID = 93516]

The tangent to the curve given by x = et . cost, y = et . sint at t =  makes with x-axis an angle:

 

समीकरण x = et . cost, y = et . sint �ारा �द� व� की t = पर �श� रेखा, अ� से कोण बनाती है

[Question ID = 53385]

1.  [Option ID = 93529]

2.  [Option ID = 93528]
3.  [Option ID = 93526]

4.  [Option ID = 93527]

Correct Answer :-

 [Option ID = 93529]

A correct statement would be
 एक सही कथन होगा

[Question ID = 6373]

1. all rectangles are squares / सभी आयत वग� ह� [Option ID = 25484]
2. all parallelograms are rectangles / सभी समानांतर चतुभु�ज आयत ह� [Option ID = 25486]
3. all squares are not parallelograms / सभी वग� समानांतर चतुभु�ज नही ंह� [Option ID = 25485]
4. all squares are rectangles / सभी वग� आयत ह� [Option ID = 25483]

Correct Answer :-
all squares are rectangles / सभी वग� आयत ह� [Option ID = 25483]

Members of phycomycetes are found in
 i. aquatic habitats

 ii. on decaying wood
 iii. moist and damp places

 iv. as obligate parasites on plants
 Choose from the following options
 फाइकोमाइिसटीज के सद� पाए जाते ह�

 i. जलीय आवास म�
 ii. सड़ी-गली लकड़ी पर
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iii. नम तथा आ� �थानो ंपर
 iv. पादपो ंपर अविवक�ी परजीवी की तरह से

 िन�िल�खत िवक�ो ंम� से चयन कीिजए

[Question ID = 6421]

1. (i), (iv) [Option ID = 25676]
2. (i), (ii), (iii), (iv) [Option ID = 25678]
3. (i), (ii) [Option ID = 25675]
4. (ii), (iii) [Option ID = 25677]

Correct Answer :-
(i), (ii), (iii), (iv) [Option ID = 25678]

‘Disguised unemployment’ refers to
 ‘��� बेरोज़गारी’ से ता�य� है [Question ID = 6471]

1. more persons employed for a job which a few can accomplish / एक रोज़गार म� कई ���यो ंको रोज़गार देना जो कुछ ही लोग पूरा कर सकते ह� [Option ID = 25876]
2. persons with no jobs / िबना िकसी रोज़गार के ��� [Option ID = 25875]
3. unemployment among women / मिहलाओ ंके बीच बेरोज़गारी [Option ID = 25877]
4. unemployment of people above 60 years of age / साठ वष� से अिधक ���यो ंकी बेरोज़गारी [Option ID = 25878]

Correct Answer :-
more persons employed for a job which a few can accomplish / एक रोज़गार म� कई ���यो ंको रोज़गार देना जो कुछ ही लोग पूरा कर सकते ह� [Option ID =
25876]

The correct statement from the following will be
 िन�िल�खत म� से सही कथन होगा [Question ID = 6413]

1. Natural gas can’t be used for power generation. / �ाकृितक गैस का उपयोग िवद्यु त उ�ादन के िलए नही ंिकया जा सकता| [Option ID = 25646]
2. Natural gas is stored under high pressure as compressed natural gas. / �ाकृितक गैस को संपीिडत �ाकृितक गैस के �प म� अिधक दाब पर भंडा�रत िकया जाता है|

[Option ID = 25645]
3. It is difficult to transport natural gas through pipes. / �ाकृितक गैस का प�रवहन पाइपो ं�ारा करना किठन है| [Option ID = 25643]
4. The disadvantages of natural gas is that it can’t be used directly for burning in homes. / �ाकृितक गैस की कमी यह है िक घरो ंम� जलाने के िलए इसका सीधा उपयोग
नही ंकर सकते| [Option ID = 25644]

Correct Answer :-
Natural gas is stored under high pressure as compressed natural gas. / �ाकृितक गैस को संपीिडत �ाकृितक गैस के �प म� अिधक दाब पर भंडा�रत िकया जाता है|
[Option ID = 25645]

An event where many people work together to develop new software products in a short time is 
 एक काय��म जहां कई लोग कम समय म� नए सॉ�वेयर उ�ादो ंको िवकिसत करने के िलए िमलकर काम करते ह�, वह है [Question ID = 6379]

1. hackathon / हैकाथन [Option ID = 25507]
2. decathon / डैकाथन [Option ID = 25508]
3. amazon / ऍमेज़न [Option ID = 25510]
4. marathon / मैराथन [Option ID = 25509]

Correct Answer :-
hackathon / हैकाथन [Option ID = 25507]

[Question ID = 53378]

1.  [Option ID = 93498]
2.  [Option ID = 93500]

3.  [Option ID = 93499]

4.  [Option ID = 93501]

Correct Answer :-

A metre scale is moving with uniform velocity. This implies
 कोई मीटर �ेल एक समान वेग से गितमान है। इसका अथ� है िक [Question ID = 6411]
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1. the force acting on the scale is zero and the torque acting about centre of mass of the scale is also zero. / �ेल पर लगने वाले बल का प�रमाण शू� है और �ेल
के ��मान क� � के प�रतः काय� करने वाला बल आघूण� भी शू� है। [Option ID = 25636]

2. the force acting on the scale is zero, but a torque about the centre of mass can act on the scale. / �ेल पर लगने वाले बल का प�रमाण शू� है। परंतु �ेल पर
��मान क� � के प�रतः कोई बल-आघूण� काय� कर सकता है। [Option ID = 25635]

3. the total force acting on it need not be zero but the torque on it is zero. / इस पर लगने वाला कुल बल शू� होना आव�क नही ंहै परंतु इस पर काय� करने वाला बल-
आघूण� शू� है। [Option ID = 25637]

4. neither the force nor the torque need to be zero. / �ेल पर काय� करने वाले न तो बल और न ही बल आघूण� का शू� होना आव�क है। [Option ID = 25638]

Correct Answer :-
the force acting on the scale is zero and the torque acting about centre of mass of the scale is also zero. / �ेल पर लगने वाले बल का प�रमाण शू� है और
�ेल के ��मान क� � के प�रतः काय� करने वाला बल आघूण� भी शू� है। [Option ID = 25636]

‘Mein Hijra, Mein Laxmi’ (Me Hijra, Me Laxmi) has been written by
 ‘म� िहजड़ा, म� ल�ी’ को िलखा है [Question ID = 6382]

1. T. Laxmi Nathan / टी. ल�ी नाथन ने [Option ID = 25520]
2. Laxmi Kant Tiwari / ल�ी का� ितवारी ने [Option ID = 25521]
3. Laxmi Shankar Trivedi / ल�ी शंकर ि�वेदी ने [Option ID = 25519]
4. Laxmi Narayan Tripathi / ल�ी नारायण ि�पाठी ने [Option ID = 25522]

Correct Answer :-
Laxmi Narayan Tripathi / ल�ी नारायण ि�पाठी ने [Option ID = 25522]

A is sister of B. C is father of D. A is daughter of E who is married to C. D is brother of B. How is B related to C?
 A, B की बहन है। C, D के िपता ह�। A, E की पु�ी है िजसने C से शादी की है। D, B का भाई है। B, C से िकस �कार संबंिधत है? [Question ID = 6365]

1. Data inadequate / सूचना अपया�� [Option ID = 25451]
2. Son or Daughter / पु� या पु�ी [Option ID = 25454]
3. Son / पु� [Option ID = 25453]
4. Daughter / पु�ी [Option ID = 25452]

Correct Answer :-
Son or Daughter / पु� या पु�ी [Option ID = 25454]

Read the statement given below.
 i. Seeds require moisture for germination.

 ii. Plants can absorb nutrients mostly in dissolved form.
 iii. Irrigation protects crops from both frost and hot air currents.

 iv. Irrigation improves soil texture.
 Choose the combination of statements which indicate the need to irrigate crops.

 नीचे िदए गए कथन को पढ़� |
 i. बीज को अंकुरण के िलए नमी की आव�कता होती है।

 ii. पौधे �ादातर िवघिटत �प म� पोषक त�ो ंको अवशोिषत कर सकते ह�।
 iii. िसंचाई दोनो ंठंढ और गम� हवा धाराओ ंसे फसलो ंकी र�ा करता है।

 iv. िसंचाई िम�ी की बनावट म� सुधार करता है।
 कथन के समु�यो ंका चयन कर�  जो फसलो ंको िसंचाई करने की आव�कता को इंिगत करते ह� ।

[Question ID = 6429]

1. (i), (ii), (iii), (iv) [Option ID = 25709]
2. (i), (ii), (iii) [Option ID = 25708]
3. (i), (iii) [Option ID = 25710]
4. (i), (ii) [Option ID = 25707]

Correct Answer :-
(i), (ii) [Option ID = 25707]

A sphere, a cube and a thin circular plate, all of same material and same mass are initially heated to same high temperature. In this
situation

 समान ��मान तथा समान पदाथ� के बने एक गोले, एक घन एवं एक वृ�ाकार �ेट को समान उ� ताप तक आरंभ म� त� िकया गया है| इस प�र��थित म� [Question ID
= 6412]

1. sphere will cool fastest and cube the slowest. / गोला सबसे अिधक ती�ता से और घन सबसे धीरे ठंडा होगा। [Option ID = 25640]
2. plate will cool fastest and sphere the slowest. / �ेट सबसे अिधक ती�ता से और गोला सबसे धीरे ठंडा होगा। [Option ID = 25639]
3. plate will cool fastest and cube the slowest. / �ेट सबसे अिधक ती�ता से और घन सबसे धीरे ठंडा होगा। [Option ID = 25641]
4. cube will cool fastest and plate the slowest. / घन सबसे अिधक ती�ता से और �ेट सबसे धीरे ठंडी होगी। [Option ID = 25642]

Correct Answer :-
plate will cool fastest and sphere the slowest. / �ेट सबसे अिधक ती�ता से और गोला सबसे धीरे ठंडा होगा। [Option ID = 25639]
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The author of ‘Joothan- An Untouchable’s Life’ is
 ‘जूठन - एक दिलत का जीवन' के लेखक ह� [Question ID = 6383]

1. Bhimrao Ramji Ambedkar / भीमराव रामजी अ�ेडकर [Option ID = 25526]
2. Jyotirao Govindrao Phule / �ोितराव गोिवंदराव फुले [Option ID = 25523]
3. Chandra Bhan Prasad / च� भान �साद [Option ID = 25525]
4. Omprakash Valmiki / ओम�काश वा�ीिक [Option ID = 25524]

Correct Answer :-
Omprakash Valmiki / ओम�काश वा�ीिक [Option ID = 25524]

Let R be a relation on the set N of natural numbers defined by nRm if n divides m. Then R is
 मान लीिजए िक R �ाकृत सं�ाओ ंके समु�य N म� एक स�� है, जो nRm यिद n िवभािजत करता है m को, �ारा प�रभािषत है, तो R

[Question ID = 6371]

1. reflexive, transitive but not symmetric / �तु�, सं�ामक है परंतु समिमत नही ंहै [Option ID = 25478]
2. reflexive and symmetric / �तु� एवं समिमत है [Option ID = 25475]
3. transitive and symmetric / सं�ामक एवं समिमत है [Option ID = 25476]
4. equivalence / तु�ता स�� है [Option ID = 25477]

Correct Answer :-
reflexive, transitive but not symmetric / �तु�, सं�ामक है परंतु समिमत नही ंहै [Option ID = 25478]

Let n (A) = m, and n (B) = n, then the total number of non-empty relations that can be defined from A to B is
 मान लीिजए िक n(A)= m और n(B)= n, तो A से B म� प�रभािषत िकए जा सकने वाले अ�र� संबंधो ंकी कुल सं�ा है

[Question ID = 6368]

1. mn – 1 [Option ID = 25465]
2. mn - 1 [Option ID = 25463]
3. nm – 1 [Option ID = 25464]
4. 2mn – 1 [Option ID = 25466]

Correct Answer :-
2mn – 1 [Option ID = 25466]

The Oxford Dictionary’s ‘word of the year 2017’ is 
 ऑ�फ़ोड� श�कोष का ‘वष� 2017 का श�’ रहा [Question ID = 6380]

1. newsjacking / �ूज़जैिकंग [Option ID = 25511]
2. youthquake / यूथ�ैक [Option ID = 25512]
3. trump / ट�� [Option ID = 25514]
4. broflake / �ो�ेक [Option ID = 25513]

Correct Answer :-
youthquake / यूथ�ैक [Option ID = 25512]

Blood calcium level is a resultant of how much dietary calcium is absorbed, how much calcium is lost in the urine, how much bone
dissolves releasing calcium into the blood and how much calcium from blood enters the tissues. A number of factors play important role in
these processes. Mark the one which has no role.

 शरीर म� �िधर कै��यम �र इस बात का �ोतक (प�रणाम) है िक आहार से �ा� होने वाला िकतना कै��यम अवशोिषत �आ है, िकतना कै��यम मू� �ारा िनकल गया
है, िकतनी अ��थ घुलकर �िधर म� कै��यम का मोचन करती है और �िधर से िकतना कै��मय ऊतको ंम� �वेश करता है। इन �ि�याओ ंम� कई कारक अपनी मह�पूण�
भूिमका अदा करते ह� । इस ि�या म� वह कारक िजसकी कोई भूिमका नही ंहै, वह है

[Question ID = 6423]

1. Vitamin D / िवटािमन डी [Option ID = 25683]
2. Parathyroid hormone / परावटु (पैराथाइराइड) हारमोन [Option ID = 25684]
3. Thymosin / थाइमोिसन [Option ID = 25686]
4. Thyrocalcitonin / थाइरो कै��टोिनन [Option ID = 25685]

Correct Answer :-
Thymosin / थाइमोिसन [Option ID = 25686]

The set (A ∪ B ∪ C) ∩ (A ∩ B′ ∩ C′)′ ∩ C′ is equal to
 समु�य (A ∪ B ∪ C) ∩ (A ∩ B′ ∩ C′)′ ∩ C′ समान है
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[Question ID = 6367]

1. B ∪ C′ [Option ID = 25461]
2. B ∩ C′ [Option ID = 25462]
3. A ∩ C [Option ID = 25460]
4. A ∩ C′ [Option ID = 25459]

Correct Answer :-
B ∩ C′ [Option ID = 25462]

The statements which are true on the way children were taught in the ‘pathshalas’ in the pre-British India are
 i. classes were not held during harvest time when rural children often worked in the fields

 ii. children sat on fixed seats
 iii. the State took the responsibility of organizing all formal schooling

 iv. fee depended on the income of the parents: the rich had to pay more than the poor
  

पूव�-ि�िटश भारत म� 'पाठशालाओ'ं म� ब�ो ंको िसखाए जाने वाले तरीके के बारे म� जो कथन स� ह�, वे ह�
 i.फसल कटाई के समय क�ाएँ आयोिजत नही ंकी जाती थी ंजब �ामीण ब�े अ�र खेतो ंम� काम करते थे
 ii. ब�े िनि�त सीटो ंपर बैठते थे

 iii. रा� ने सभी औपचा�रक �ूली िश�ा को संयोिजत करने की िज़�ेदारी ली
 iv. शु� माता-िपता की आय पर िनभ�र करता था : अमीरो ंको गरीबो ंसे अिधक भुगतान करना पड़ता था

[Question ID = 6385]

1. (iii) ,(iv) [Option ID = 25531]
2.  (i), (ii) ,(iv) [Option ID = 25533]
3. (ii) , (iii) [Option ID = 25532]
4. (i) , (iv) [Option ID = 25534]

Correct Answer :-
 (i), (ii) ,(iv) [Option ID = 25533]

The statements which are true for the ‘Swachh Vidyalaya’ initiative are
 i. to ensure that all government schools in India have separate functioning toilets for boys and girls.

 ii. the use of improved sanitary facilities decreases the incidences of gastrointestinal illnesses in children and reduces absenteeism.
 iii. to engage with manual scavenging to clean toilets efficiently.

 iv. to promote behaviour changes such as hand washing, using and maintaining toilet.
  

‘�� िव�ालय’ पहल के िलए जो कथन स� ह�, वे ह�
 i. यह सुिनि�त करना िक भारत के सभी सरकारी �ूलो ंम� लड़को ंऔर लड़िकयो ंके िलए अलग-अलग चालू शौचालय ह�।

 ii. बे�ता सुिवधाओ ंका उपयोग िव�ालय म� ब�ो ंम� आं�शोथ संबंधी बीमा�रयो ंतथा अनुप��थित की घटना को कम करता है।
 iii. शौचालयो ंको कुशलतापूव�क साफ करने के िलए मैला ढोने की �था के साथ संल� होना।

 iv. शौचालय का उपयोग, रखरखाव और हाथ धोने जैसे बदलावो ंको �वहार म� लाने के िलए �ो�ािहत करना।

[Question ID = 6395]

1. (i), (ii), (iii) [Option ID = 25571]
2. (i), (ii), (iv) [Option ID = 25573]
3. (i), (iii), (iv) [Option ID = 25574]
4. (ii), (iii), (iv) [Option ID = 25572]

Correct Answer :-
(i), (ii), (iv) [Option ID = 25573]

The ‘ektara’, which is a rhythmic folk instrument with a stretched single string, is also known as
 ‘एकतारा’/ ‘इकतारा’ जो एक लयब� लोक यं� है, िजसम� एक तनी एकल तार होती है, को इस नाम से भी जाना जाता है

[Question ID = 6378]

1. Gopichand / गोपीचंद [Option ID = 25504]
2. Sai Praneeth / साईं �णीत [Option ID = 25503]
3. Prannoy / �णॉय [Option ID = 25506]
4. Srikanth Kidambi / �ीकांत िकदंबी [Option ID = 25505]

Correct Answer :-
Gopichand / गोपीचंद [Option ID = 25504]

The players who have won twenty or more Grand Slam titles are
 बीस या उससे �ादा ��ड �ैम िख़ताब जीतने वाले �खलाड़ी ह�
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[Question ID = 6381]

1. Margaret Court, Serena Williams, Steffi Graf and Roger Federer / माग�रेट कोट�, सेरेना िविलय�, �ेफी �ाफ तथा रॉजर फेडरर [Option ID = 25518]
2. Pete Sampras, Venus Williams, Roger Federer and Serena Williams / पीट स�ास, वीनस िविलय�, रॉजर फेडरर तथा सेरेना िविलय� [Option ID = 25516]
3. Roger Federer, Serena Williams, Novak Djokovic and Rafael Nadal / रॉजर फेडरर, सेरेना िविलय�, नोवाक जोकोिवच तथा राफेल नडाल [Option ID = 25517]
4. Rafael Nadal, Serena Williams, Roger Federer and Steffi Graf/राफेल नडाल, सेरेना िविलय�, रॉजर फेडरर तथा �ेफी �ाफ [Option ID = 25515]

Correct Answer :-
Margaret Court, Serena Williams, Steffi Graf and Roger Federer / माग�रेट कोट�, सेरेना िविलय�, �ेफी �ाफ तथा रॉजर फेडरर [Option ID = 25518]

The sobriquet ‘City of lakes’ is given to
 i. Srinagar

 ii. Udaipur
 iii. Bhopal
 iv. Kohima
  

िजन शहरो ंको ‘झीलो ंका शहर’ उपनाम िदया गया ह�, वे ह�
 i. �ीनगर

 ii. उदयपुर
 iii. भोपाल
 iv. कोिहमा

[Question ID = 6403]

1. (i), (ii), (iii) [Option ID = 25605]
2. (i), (ii), (iv) [Option ID = 25603]
3. (i), (iii), (iv) [Option ID = 25606]
4. (ii), (iii), (iv) [Option ID = 25604]

Correct Answer :-
(i), (ii), (iii) [Option ID = 25605]

The village development program 'Operation Flood' focuses on
 ‘ऑपरेशन �ड’ नामक �ाम िवकास काय��म के��त है

[Question ID = 6392]

1. Flood control, so that damage of public property could be reduced. / बाढ़ िनयं�ण पर, तािक साव�जिनक संपि� के �ित को कम िकया जा सके| [Option ID = 25559]
2. Poultry farming, in order to create employment opportunities for the rural people, to increase their income and to eliminate poverty. / कु�ुट पालन पर,
तािक �ामीण लोगो ंको रोजगार के अवसर �ा� हो,ं उनकी आमदनी बढ़े तथा गरीबी दूर हो| [Option ID = 25560]

3. Bee keeping, in order to create employment opportunities for the rural people, to increase their income and to eliminate poverty. / मधुम�ी पालन पर, तािक
�ामीण लोगो ंको रोजगार के अवसर �ा� हो,ं उनकी आमदनी बढ़े तथा गरीबी दूर हो [Option ID = 25562]

4. Dairy work, as a medium of development in order to create employment opportunities for the rural people, to increase their income and to eliminate
poverty. / डेयरी उ�ादन पर, तािक �ामीण लोगो ंको रोजगार के अवसर �ा� हो,ं उनकी आमदनी बढ़े तथा गरीबी दूर हो| [Option ID = 25561]

Correct Answer :-
Dairy work, as a medium of development in order to create employment opportunities for the rural people, to increase their income and to eliminate
poverty. / डेयरी उ�ादन पर, तािक �ामीण लोगो ंको रोजगार के अवसर �ा� हो,ं उनकी आमदनी बढ़े तथा गरीबी दूर हो| [Option ID = 25561]

The following statements true in the context of equality and social justice in educational institutions are
 i. equality and social justice are values that we have to keep striving for and not something which will happen automatically.

 ii. people’s struggles, advocacy and positive actions by the government are necessary to make this a reality for all India.
 iii. eatblishment of equality is possible only through the efforts of Non-Government Organizations.

  
शै�िणक सं�थानो ंम� समानता और सामािजक �ाय के संदभ� म� सही कथन ह�

 i. समानता और सामािजक �ाय मू� ह�, िज�� �ा� करने के िलए सतत �यास करना पड़ता है और ऐसा कुछ नही ंजो �तः होगा|
 ii. स�ूण� भारत के िलए इसे वा�िवकता बनाने के िलए जनसंघष�, प�-समथ�न तथा सरकार के सकारा�क प� आव�क है|

 iii. समानता की �थापना केवल गैर- सरकारी संगठनो ंके �यास से ही संभव है|

[Question ID = 6396]

1. (i), (ii), (iii) [Option ID = 25578]
2. (i), (iii) [Option ID = 25577]
3. (i), (ii) [Option ID = 25576]
4. (ii), (iii) [Option ID = 25575]

Correct Answer :-
(i), (ii) [Option ID = 25576]
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A cell will swell up if
 एक कोिशका फूल जाएगी, यिद

[Question ID = 6426]

1. Concentration of water molecules does not matter / जल के अणुओ ंकी सां�ता मह� नही ंरखती| [Option ID = 25698]
2. The concentration of water molecules is same in the cell and in the surrounding medium / कोिशका के भीतर तथा उसके बाहर के जल के अणुओ ंकी सां�ता समान
हो| [Option ID = 25697]

3. The concentration of water molecules in the cell is higher than the concentration of water molecules in surrounding medium / कोिशका के भीतर जल के
अणुओ ंकी सां�ता उसके बाहर चारो ंओर उप��थत जल के अणुओ ंकी सां�ता से अिधक हो| [Option ID = 25695]

4. The concentration of water molecules in surrounding medium is higher than water molecules concentration in the cell / कोिशका के बाहर चारो ंओर उप��थत
जल के अणुओ ंकी सां�ता कोिशका के भीतर जल के अणुओ ंकी सां�ता से अिधक हो| [Option ID = 25696]

Correct Answer :-
The concentration of water molecules in surrounding medium is higher than water molecules concentration in the cell / कोिशका के बाहर चारो ंओर
उप��थत जल के अणुओ ंकी सां�ता कोिशका के भीतर जल के अणुओ ंकी सां�ता से अिधक हो| [Option ID = 25696]

Topic:- DU_J18_Bed_Topic05

यह कहा जाता है िक फेल न िकए जाने के कारण ब�ो ंम� पढ़ाई के �ित अ��ा हो जाती है और वे �यास करना छोड़ देते ह�। दूसरा यह िक जब कोई िव�ाथ� िपछली क�ा
की बातो ंको न सीखकर अगली क�ा म� प�ँचता है तो उसे अगली क�ा की िवषयव�ु समझने म� किठनाई होती है। अतः उसे उसी क�ा म� रोककर िसखाना बेहतर है। चिलए
इन दो दलीलो ंका परी�ण करते ह�। �ा परी�ा और फेल हो जाने का डर वा�व म� ब�ो ंके िलए �ेरणा का �ोत बन सकता है? पढ़ाई के �ित ��ा या इ�ा िवषयव�ु की
रोचकता तथा िश�ण िविध पर िनभ�र होनी चािहए, न िक िकसी द� के डर पर । हम� यह भी �ीकार करना होगा िक सभी ब�े हर िवषय म� समान �प से सीखना नही ं
चाह�गे । इस कारण पा��म म� िविवधता और ब�आयािमता की ज़�रत है। पढ़ना-िलखना, तािक� क सोच, सामािजक समानता और �ाय, पया�वरणबोध तथा सौ�य�बोध
जैसे कुछ बुिनयादी शै�िणक उ�े�ो ंको हर िवधा म� िपरोने की ज़�रत है तािक िजस िवधा म� बालक �िच ले, उसके मा�म से वह ये बात� सीख सके । जो हम पढ़ाना चाहते
ह�, वह ब�े के िलए रोचक न हो, या हम सही तरीके से िसखा न पाएँ, तो इसम� दोष िकसका है? �ा यह िव�ाथ� का दोष है या िक उस िवधा का है, या उस िश�क का या उस
शै�िणक �व�था का है? इनम� से हम िकसे फेल माने? ब�े तब सीखते ह� जब उनम� उस िवषयव�ु के �ित कोई आकष�ण बने और उसे सीखने के िलए ती� इ�ा व उ�ाह
जागृत हो जैसे वे रोटी बनाना, साइिकल चलाना या िफर नए मोबाइल फोन इ�ेमाल करना सीखते ह� । �ा इस तरह का उ�ाह फेल होने के डर से उ�� हो सकता है?

 

लेखक के अनुसार ब�े के पा��म म� िकस चीज़ की आव�कता है?

[Question ID = 20004]

1. ब�आयािमता की [Option ID = 50010]
2. आकष�क िच�ो ंकी [Option ID = 50008]
3. िविवधता की [Option ID = 50009]
4. िविवधता एवं ब�आयािमता दोनो ंकी [Option ID = 50011]

Correct Answer :-
िविवधता एवं ब�आयािमता दोनो ंकी [Option ID = 50011]

यह कहा जाता है िक फेल न िकए जाने के कारण ब�ो ंम� पढ़ाई के �ित अ��ा हो जाती है और वे �यास करना छोड़ देते ह�। दूसरा यह िक जब कोई िव�ाथ� िपछली क�ा
की बातो ंको न सीखकर अगली क�ा म� प�ँचता है तो उसे अगली क�ा की िवषयव�ु समझने म� किठनाई होती है। अतः उसे उसी क�ा म� रोककर िसखाना बेहतर है। चिलए
इन दो दलीलो ंका परी�ण करते ह�। �ा परी�ा और फेल हो जाने का डर वा�व म� ब�ो ंके िलए �ेरणा का �ोत बन सकता है? पढ़ाई के �ित ��ा या इ�ा िवषयव�ु की
रोचकता तथा िश�ण िविध पर िनभ�र होनी चािहए, न िक िकसी द� के डर पर । हम� यह भी �ीकार करना होगा िक सभी ब�े हर िवषय म� समान �प से सीखना नही ं
चाह�गे । इस कारण पा��म म� िविवधता और ब�आयािमता की ज़�रत है। पढ़ना-िलखना, तािक� क सोच, सामािजक समानता और �ाय, पया�वरणबोध तथा सौ�य�बोध
जैसे कुछ बुिनयादी शै�िणक उ�े�ो ंको हर िवधा म� िपरोने की ज़�रत है तािक िजस िवधा म� बालक �िच ले, उसके मा�म से वह ये बात� सीख सके । जो हम पढ़ाना चाहते
ह�, वह ब�े के िलए रोचक न हो, या हम सही तरीके से िसखा न पाएँ, तो इसम� दोष िकसका है? �ा यह िव�ाथ� का दोष है या िक उस िवधा का है, या उस िश�क का या उस
शै�िणक �व�था का है? इनम� से हम िकसे फेल माने? ब�े तब सीखते ह� जब उनम� उस िवषयव�ु के �ित कोई आकष�ण बने और उसे सीखने के िलए ती� इ�ा व उ�ाह
जागृत हो जैसे वे रोटी बनाना, साइिकल चलाना या िफर नए मोबाइल फोन इ�ेमाल करना सीखते ह� । �ा इस तरह का उ�ाह फेल होने के डर से उ�� हो सकता है?

 

उपरो� ग�ांश म� ‘दलील’ श� का �योग िकया गया है

[Question ID = 20002]

1. सलाह के स�भ� म� [Option ID = 50002]
2. तक�  के स�भ� म� [Option ID = 50003]
3. �� के स�भ� म� [Option ID = 50000]
4. वा� के स�भ� म� [Option ID = 50001]

Correct Answer :-
तक�  के स�भ� म� [Option ID = 50003]

यह कहा जाता है िक फेल न िकए जाने के कारण ब�ो ंम� पढ़ाई के �ित अ��ा हो जाती है और वे �यास करना छोड़ देते ह�। दूसरा यह िक जब कोई िव�ाथ� िपछली क�ा
की बातो ंको न सीखकर अगली क�ा म� प�ँचता है तो उसे अगली क�ा की िवषयव�ु समझने म� किठनाई होती है। अतः उसे उसी क�ा म� रोककर िसखाना बेहतर है। चिलए
इन दो दलीलो ंका परी�ण करते ह�। �ा परी�ा और फेल हो जाने का डर वा�व म� ब�ो ंके िलए �ेरणा का �ोत बन सकता है? पढ़ाई के �ित ��ा या इ�ा िवषयव�ु की
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रोचकता तथा िश�ण िविध पर िनभ�र होनी चािहए, न िक िकसी द� के डर पर । हम� यह भी �ीकार करना होगा िक सभी ब�े हर िवषय म� समान �प से सीखना नही ं
चाह�गे । इस कारण पा��म म� िविवधता और ब�आयािमता की ज़�रत है। पढ़ना-िलखना, तािक� क सोच, सामािजक समानता और �ाय, पया�वरणबोध तथा सौ�य�बोध
जैसे कुछ बुिनयादी शै�िणक उ�े�ो ंको हर िवधा म� िपरोने की ज़�रत है तािक िजस िवधा म� बालक �िच ले, उसके मा�म से वह ये बात� सीख सके । जो हम पढ़ाना चाहते
ह�, वह ब�े के िलए रोचक न हो, या हम सही तरीके से िसखा न पाएँ, तो इसम� दोष िकसका है? �ा यह िव�ाथ� का दोष है या िक उस िवधा का है, या उस िश�क का या उस
शै�िणक �व�था का है? इनम� से हम िकसे फेल माने? ब�े तब सीखते ह� जब उनम� उस िवषयव�ु के �ित कोई आकष�ण बने और उसे सीखने के िलए ती� इ�ा व उ�ाह
जागृत हो जैसे वे रोटी बनाना, साइिकल चलाना या िफर नए मोबाइल फोन इ�ेमाल करना सीखते ह� । �ा इस तरह का उ�ाह फेल होने के डर से उ�� हो सकता है?

 

उपरो� ग�ांश म� ‘िपरोने’ श� से ता�य� है

[Question ID = 20005]

1. घटाना [Option ID = 50013]
2. छांटना [Option ID = 50012]
3. िमटाना [Option ID = 50015]
4. जोड़ना [Option ID = 50014]

Correct Answer :-
जोड़ना [Option ID = 50014]

यह कहा जाता है िक फेल न िकए जाने के कारण ब�ो ंम� पढ़ाई के �ित अ��ा हो जाती है और वे �यास करना छोड़ देते ह�। दूसरा यह िक जब कोई िव�ाथ� िपछली क�ा
की बातो ंको न सीखकर अगली क�ा म� प�ँचता है तो उसे अगली क�ा की िवषयव�ु समझने म� किठनाई होती है। अतः उसे उसी क�ा म� रोककर िसखाना बेहतर है। चिलए
इन दो दलीलो ंका परी�ण करते ह�। �ा परी�ा और फेल हो जाने का डर वा�व म� ब�ो ंके िलए �ेरणा का �ोत बन सकता है? पढ़ाई के �ित ��ा या इ�ा िवषयव�ु की
रोचकता तथा िश�ण िविध पर िनभ�र होनी चािहए, न िक िकसी द� के डर पर । हम� यह भी �ीकार करना होगा िक सभी ब�े हर िवषय म� समान �प से सीखना नही ं
चाह�गे । इस कारण पा��म म� िविवधता और ब�आयािमता की ज़�रत है। पढ़ना-िलखना, तािक� क सोच, सामािजक समानता और �ाय, पया�वरणबोध तथा सौ�य�बोध
जैसे कुछ बुिनयादी शै�िणक उ�े�ो ंको हर िवधा म� िपरोने की ज़�रत है तािक िजस िवधा म� बालक �िच ले, उसके मा�म से वह ये बात� सीख सके । जो हम पढ़ाना चाहते
ह�, वह ब�े के िलए रोचक न हो, या हम सही तरीके से िसखा न पाएँ, तो इसम� दोष िकसका है? �ा यह िव�ाथ� का दोष है या िक उस िवधा का है, या उस िश�क का या उस
शै�िणक �व�था का है? इनम� से हम िकसे फेल माने? ब�े तब सीखते ह� जब उनम� उस िवषयव�ु के �ित कोई आकष�ण बने और उसे सीखने के िलए ती� इ�ा व उ�ाह
जागृत हो जैसे वे रोटी बनाना, साइिकल चलाना या िफर नए मोबाइल फोन इ�ेमाल करना सीखते ह� । �ा इस तरह का उ�ाह फेल होने के डर से उ�� हो सकता है?

 

िकन दो बातो ंपर िव�ािथ�यो ंकी पढ़ाई के �ित ��ा या इ�ा िनभ�र करती है?

[Question ID = 20003]

1. िवषय िव�ािथ�यो ंके पया�वरण से िकतना संबंिधत है और उनके मानिसक �र के अनुसार है [Option ID = 50004]
2. िवषयव�ु िकतनी रोचक है और अ�ापक �ारा कौन-सी िश�ण िविध का �योग िकया जा रहा है [Option ID = 50007]
3. िव�ाथ� और अ�ापक दोनो ंके मानिसक �र पर [Option ID = 50006]
4. अ�ापक की यो�ता और अनुभव पर [Option ID = 50005]

Correct Answer :-
िवषयव�ु िकतनी रोचक है और अ�ापक �ारा कौन-सी िश�ण िविध का �योग िकया जा रहा है [Option ID = 50007]

यह कहा जाता है िक फेल न िकए जाने के कारण ब�ो ंम� पढ़ाई के �ित अ��ा हो जाती है और वे �यास करना छोड़ देते ह�। दूसरा यह िक जब कोई िव�ाथ� िपछली क�ा
की बातो ंको न सीखकर अगली क�ा म� प�ँचता है तो उसे अगली क�ा की िवषयव�ु समझने म� किठनाई होती है। अतः उसे उसी क�ा म� रोककर िसखाना बेहतर है। चिलए
इन दो दलीलो ंका परी�ण करते ह�। �ा परी�ा और फेल हो जाने का डर वा�व म� ब�ो ंके िलए �ेरणा का �ोत बन सकता है? पढ़ाई के �ित ��ा या इ�ा िवषयव�ु की
रोचकता तथा िश�ण िविध पर िनभ�र होनी चािहए, न िक िकसी द� के डर पर । हम� यह भी �ीकार करना होगा िक सभी ब�े हर िवषय म� समान �प से सीखना नही ं
चाह�गे । इस कारण पा��म म� िविवधता और ब�आयािमता की ज़�रत है। पढ़ना-िलखना, तािक� क सोच, सामािजक समानता और �ाय, पया�वरणबोध तथा सौ�य�बोध
जैसे कुछ बुिनयादी शै�िणक उ�े�ो ंको हर िवधा म� िपरोने की ज़�रत है तािक िजस िवधा म� बालक �िच ले, उसके मा�म से वह ये बात� सीख सके । जो हम पढ़ाना चाहते
ह�, वह ब�े के िलए रोचक न हो, या हम सही तरीके से िसखा न पाएँ, तो इसम� दोष िकसका है? �ा यह िव�ाथ� का दोष है या िक उस िवधा का है, या उस िश�क का या उस
शै�िणक �व�था का है? इनम� से हम िकसे फेल माने? ब�े तब सीखते ह� जब उनम� उस िवषयव�ु के �ित कोई आकष�ण बने और उसे सीखने के िलए ती� इ�ा व उ�ाह
जागृत हो जैसे वे रोटी बनाना, साइिकल चलाना या िफर नए मोबाइल फोन इ�ेमाल करना सीखते ह� । �ा इस तरह का उ�ाह फेल होने के डर से उ�� हो सकता है?

 

ब�ा तब सीखने के �ित आकिष�त होता है जब

[Question ID = 20006]

1. उस िवषयव�ु के �ित कोई आकष�ण बने [Option ID = 50016]
2. केवल अ�ी-अ�ी कहािनयाँ हो ं[Option ID = 50018]
3. िवषयव�ु म� केवल सु�र िच� हो ं[Option ID = 50017]
4. अ�े लेखक �ारा िलखी गई किवताएँ हो ं[Option ID = 50019]

Correct Answer :-
उस िवषयव�ु के �ित कोई आकष�ण बने [Option ID = 50016]

From time immemorial drugs have been used by humans for medical purposes. But never before had the abuse … (A) … narcotics
caused such unprecedented worldwide concern and posed an alarming menace to the society. According to recent World Health
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Organization estimates, there are millions of … (B) … addicts and abusers of cocaine, opium, barbiturates, sedatives and tranquilizers all
over the world. It is now an international problem that … (C) … the Indian government. Recent movies like Udta Punjab have highlighted
that the consumption of drugs has affected the youth in the state of Punjab adversely. Taking a drug other than for medical reason in
amount, strength, frequency or manner that … (D) … the physical and mental functioning is drug abuse. Drug abuse is a painful problem
for the addict, for the family and for all those who touch their lives. It is mostly the youngsters that fall prey to drugs. At this stage, the
youngsters are especially vulnerable to pressure from friends. The future generation is virtually being crippled under the impact of drugs.
Due to intake of drugs, the person may lose will power, concentration, memory and judgement capacity. There is a need to create
awareness amongst the youth as well as work towards rehabilitation of those trapped in ...(E)… abuse.

 

Choose the most appropriate option for (B):-

[Question ID = 19998]

1. heroin [Option ID = 49987]
2. heroine [Option ID = 49984]
3. medicine [Option ID = 49986]
4. work [Option ID = 49985]

Correct Answer :-
heroin [Option ID = 49987]

From time immemorial drugs have been used by humans for medical purposes. But never before had the abuse … (A) … narcotics
caused such unprecedented worldwide concern and posed an alarming menace to the society. According to recent World Health
Organization estimates, there are millions of … (B) … addicts and abusers of cocaine, opium, barbiturates, sedatives and tranquilizers all
over the world. It is now an international problem that … (C) … the Indian government. Recent movies like Udta Punjab have highlighted
that the consumption of drugs has affected the youth in the state of Punjab adversely. Taking a drug other than for medical reason in
amount, strength, frequency or manner that … (D) … the physical and mental functioning is drug abuse. Drug abuse is a painful problem
for the addict, for the family and for all those who touch their lives. It is mostly the youngsters that fall prey to drugs. At this stage, the
youngsters are especially vulnerable to pressure from friends. The future generation is virtually being crippled under the impact of drugs.
Due to intake of drugs, the person may lose will power, concentration, memory and judgement capacity. There is a need to create
awareness amongst the youth as well as work towards rehabilitation of those trapped in ...(E)… abuse.

 

Choose the most appropriate option for (D):-

[Question ID = 20000]

1. mends [Option ID = 49992]
2. damages [Option ID = 49993]
3. invigorates [Option ID = 49995]
4. augments [Option ID = 49994]

Correct Answer :-
damages [Option ID = 49993]

From time immemorial drugs have been used by humans for medical purposes. But never before had the abuse … (A) … narcotics
caused such unprecedented worldwide concern and posed an alarming menace to the society. According to recent World Health
Organization estimates, there are millions of … (B) … addicts and abusers of cocaine, opium, barbiturates, sedatives and tranquilizers all
over the world. It is now an international problem that … (C) … the Indian government. Recent movies like Udta Punjab have highlighted
that the consumption of drugs has affected the youth in the state of Punjab adversely. Taking a drug other than for medical reason in
amount, strength, frequency or manner that … (D) … the physical and mental functioning is drug abuse. Drug abuse is a painful problem
for the addict, for the family and for all those who touch their lives. It is mostly the youngsters that fall prey to drugs. At this stage, the
youngsters are especially vulnerable to pressure from friends. The future generation is virtually being crippled under the impact of drugs.
Due to intake of drugs, the person may lose will power, concentration, memory and judgement capacity. There is a need to create
awareness amongst the youth as well as work towards rehabilitation of those trapped in ...(E)… abuse.

 

Choose the most appropriate option for (E):-

[Question ID = 20001]

1. object [Option ID = 49999]
2. environment [Option ID = 49996]
3. substance [Option ID = 49998]
4. habitat [Option ID = 49997]

Correct Answer :-
substance [Option ID = 49998]
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From time immemorial drugs have been used by humans for medical purposes. But never before had the abuse … (A) … narcotics
caused such unprecedented worldwide concern and posed an alarming menace to the society. According to recent World Health
Organization estimates, there are millions of … (B) … addicts and abusers of cocaine, opium, barbiturates, sedatives and tranquilizers all
over the world. It is now an international problem that … (C) … the Indian government. Recent movies like Udta Punjab have highlighted
that the consumption of drugs has affected the youth in the state of Punjab adversely. Taking a drug other than for medical reason in
amount, strength, frequency or manner that … (D) … the physical and mental functioning is drug abuse. Drug abuse is a painful problem
for the addict, for the family and for all those who touch their lives. It is mostly the youngsters that fall prey to drugs. At this stage, the
youngsters are especially vulnerable to pressure from friends. The future generation is virtually being crippled under the impact of drugs.
Due to intake of drugs, the person may lose will power, concentration, memory and judgement capacity. There is a need to create
awareness amongst the youth as well as work towards rehabilitation of those trapped in ...(E)… abuse.

 

Choose the most appropriate option for (C):-

[Question ID = 19999]

1. surprises [Option ID = 49991]
2. pleases [Option ID = 49988]
3. bothers [Option ID = 49989]
4. amuses [Option ID = 49990]

Correct Answer :-
bothers [Option ID = 49989]

From time immemorial drugs have been used by humans for medical purposes. But never before had the abuse … (A) … narcotics
caused such unprecedented worldwide concern and posed an alarming menace to the society. According to recent World Health
Organization estimates, there are millions of … (B) … addicts and abusers of cocaine, opium, barbiturates, sedatives and tranquilizers all
over the world. It is now an international problem that … (C) … the Indian government. Recent movies like Udta Punjab have highlighted
that the consumption of drugs has affected the youth in the state of Punjab adversely. Taking a drug other than for medical reason in
amount, strength, frequency or manner that … (D) … the physical and mental functioning is drug abuse. Drug abuse is a painful problem
for the addict, for the family and for all those who touch their lives. It is mostly the youngsters that fall prey to drugs. At this stage, the
youngsters are especially vulnerable to pressure from friends. The future generation is virtually being crippled under the impact of drugs.
Due to intake of drugs, the person may lose will power, concentration, memory and judgement capacity. There is a need to create
awareness amongst the youth as well as work towards rehabilitation of those trapped in ...(E)… abuse.

 

Choose the most appropriate option for (A):-

[Question ID = 19997]

1. by [Option ID = 49982]
2. of [Option ID = 49980]
3. from [Option ID = 49981]
4. through [Option ID = 49983]

Correct Answer :-
of [Option ID = 49980]
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 (A Parrot's story by Rabindra Nath Tagore)

 

The Raja wanted the bird to have sound schooling because
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12)  

[Question ID = 53380]

1. the bird was consuming the resources of the state but giving nothing in return. [Option ID = 93508]
2. he wanted to eventually kill the bird. [Option ID = 93509]
3. he wanted to show his gratitude towards the bird. [Option ID = 93507]
4. he wished to set before his subjects an example of love towards nature. [Option ID = 93506]

Correct Answer :-
the bird was consuming the resources of the state but giving nothing in return. [Option ID = 93508]
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13)  

                                                                                    (A Parrot's story by Rabindra Nath Tagore)

 

The tower of culture’ symbolizes

[Question ID = 19993]

1. money [Option ID = 49966]
2. raja [Option ID = 49964]
3. manuscripts [Option ID = 49967]
4. cage [Option ID = 49965]

Correct Answer :-
manuscripts [Option ID = 49967]

www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



www.F
irs

tR
an

ke
r.c

om

                                                                                    (A Parrot's story by Rabindra Nath Tagore)

 

The word ‘impertinence’ refers to

[Question ID = 19994]

1. disrespect [Option ID = 49970]
2. stupid [Option ID = 49969]
3. loyalty [Option ID = 49968]
4. civility [Option ID = 49971]

Correct Answer :-
disrespect [Option ID = 49970]
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14)  
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                                                                                    (A Parrot's story by Rabindra Nath Tagore)

 

The status of the ‘bird’ in this story can be compared today with that of a

[Question ID = 19996]

1. head of the school [Option ID = 49979]
2. student [Option ID = 49978]
3. teacher educator [Option ID = 49977]
4. teacher [Option ID = 49976]

Correct Answer :-
student [Option ID = 49978]
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1)  

                                                                                    (A Parrot's story by Rabindra Nath Tagore)

 

The bird died in the end because

[Question ID = 19995]

1. it lacked good sense. [Option ID = 49972]
2. its cage was dirty. [Option ID = 49974]
3. Its natural instincts were suppressed. [Option ID = 49973]
4. it was brutally beaten up by the Raja. [Option ID = 49975]

Correct Answer :-
Its natural instincts were suppressed. [Option ID = 49973]

Topic:- DU_J18_Bed_Topic06

एक िशि�का जब क�ा म� �वेश करती है तो कई बार इस सवाल से गुज़र चुकी होती है िक ‘उसके पढ़ाने का उ�े� �ा है? उसके �ान और ���� से िव�ाथ� �ा
सीख�गे? वह अपने िव�ािथ�यो ंके साथ कैसे समाज की क�ना साँझा करना चाहती है?’ शायद जब सािव�ी बाई फुले ने पढ़ाना शु� िकया होगा तब भले ही उ�� समाज का
साथ न िमला हो िक�ु उनके पास उ�े� और एक बेहतर समाज की क�ना की कोई कमी नही ंरही होगी| उ�ी ंके श�ो ंम�-

 “िव�ा �ा� कर� , शू�ो-ं अितशू�ो ंके दुःख िनवारण हेतु
 भट- बा�नो ंके ष�ं�ो ंके िपतरो ंको दूर फ़� क हेतु”
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2)  

3)  

उनका उ�े� था ऐसी िव�ा का िनमा�ण करना जो शू�ो-ं अितशू�ो ंको �ा�णो ंके ष�ं�ो ंसे लड़ना िसखाए| यह कोई िनम�ल सपना नही ंथा, ब�� एक संघष�पूण� जीवन का
चयन था| यह उस समय की बात है जब अं�ेज शासको ंने भारत म� �ूल और कॉलेज खोलने शु� िकए| वे भारतीयो ंका एक ऐसा वग� तैयार करना चाहते थे जो उनके िलए
�क�  का काम कर� , जो उनके और उनकी �जा के बीच अनुवादक बन सक� , एक ऐसा वग� जो खून और रंग से तो भारतीय हो पर पसंद, िवचार, श� और समझ म� अं�ेज|
ऐसे ही एक �ूल म� सािव�ी बाई फुले के पित �ोितराव फुले भी पढ़े| नौ साल की उ� म� सािव�ी का िववाह �ोितराव के साथ �आ| सािव�ी की पढ़ाई म� �िच देखकर
�ोितराव ने उ�� पढ़ाना शु� िकया| इस तरह शु� �ई उ�ीसवी ंशता�ी म� एक दिलत मिहला सािव�ी की पढ़ाई| उ�ोनें अहमदनगर और पुणे से अपना �िश�ण पूरा
िकया| उसके प�ात् 1848 म� �ोितराव-सािव�ी ने लड़िकयो ंके िलए पहला �ूल खोला| उनके िश�ा दश�न के क� � म� था ‘समाज सुधार’| कहते ह�, अ�ा िश�क वही बन
सकता है, जो अ�ा िव�ाथ� हो| सािव�ी भी एक अ�े िव�ाथ� की तरह लगातार सामािजक गैर-बराबरी और उ�ीड़न को समझने की कोिशश करती थी|ं �ोितबा और
सािव�ी बाई हर सामािजक कुरीित से लड़ते और अपने आस-पास के माहौल म� ह��ेप करते| उ�ोनें जीवन भर िवधवा िववाह के िलए �यास िकए, अनाथ ब�ो ंके िलए
आसरे खोले| 1876 व 1879 के अकाल व 1897 के �ेग म� सािव�ीबाई ने गाँव- देहात म� पीिड़तो ंके िलए सहायता िशिवर चलाने व भोजन �व�था करने म� अथक �यास
िकए| �ेग म� मरीजो ंकी सेवा- देखभाल करते �ए ही वो बीमार पड़ी और उनकी मौत हो गई| उनका उदाहरण िदखाता है िक समाज से कटकर कोई �गितशील िश�क नही ं
बन सकता|

 

उपरो� ग�ांश के अनुसार भारतीयो ंको िश�ा देने के पीछे अं�ेजी शासको ंका मु� उ�े� था-
  

i. द�रो ंम� �क�  का काम करने के िलए भारतीयो ंको िशि�त करना
 ii. अं�ेजी िवचारधारा का अनुसरण करने वाले भारतीय समूह को तयार करना

 iii. केवल उ� वग� के लोगो ंको िश�ा देना
 iv. अं�ेजी बोलने और समझने वाले भारतीय लोगो ंका एक समूह तैयार करना

[Question ID = 53387]

1. (i), (ii) [Option ID = 93536]
2. (i), (ii), (iv) [Option ID = 93534]
3. (i), (ii), (iii) [Option ID = 93535]
4. (ii), (iii), (iv) [Option ID = 93537]

Correct Answer :-
(i), (ii), (iv) [Option ID = 93534]

एक िशि�का जब क�ा म� �वेश करती है तो कई बार इस सवाल से गुज़र चुकी होती है िक ‘उसके पढ़ाने का उ�े� �ा है? उसके �ान और ���� से िव�ाथ� �ा
सीख�गे? वह अपने िव�ािथ�यो ंके साथ कैसे समाज की क�ना साँझा करना चाहती है?’ शायद जब सािव�ी बाई फुले ने पढ़ाना शु� िकया होगा तब भले ही उ�� समाज का
साथ न िमला हो िक�ु उनके पास उ�े� और एक बेहतर समाज की क�ना की कोई कमी नही ंरही होगी| उ�ी ंके श�ो ंम�-

 “िव�ा �ा� कर� , शू�ो-ं अितशू�ो ंके दुःख िनवारण हेतु
 भट- बा�नो ंके ष�ं�ो ंके िपतरो ंको दूर फ़� क हेतु”

 उनका उ�े� था ऐसी िव�ा का िनमा�ण करना जो शू�ो-ं अितशू�ो ंको �ा�णो ंके ष�ं�ो ंसे लड़ना िसखाए| यह कोई िनम�ल सपना नही ंथा, ब�� एक संघष�पूण� जीवन का
चयन था| यह उस समय की बात है जब अं�ेज शासको ंने भारत म� �ूल और कॉलेज खोलने शु� िकए| वे भारतीयो ंका एक ऐसा वग� तैयार करना चाहते थे जो उनके िलए
�क�  का काम कर� , जो उनके और उनकी �जा के बीच अनुवादक बन सक� , एक ऐसा वग� जो खून और रंग से तो भारतीय हो पर पसंद, िवचार, श� और समझ म� अं�ेज|
ऐसे ही एक �ूल म� सािव�ी बाई फुले के पित �ोितराव फुले भी पढ़े| नौ साल की उ� म� सािव�ी का िववाह �ोितराव के साथ �आ| सािव�ी की पढ़ाई म� �िच देखकर
�ोितराव ने उ�� पढ़ाना शु� िकया| इस तरह शु� �ई उ�ीसवी ंशता�ी म� एक दिलत मिहला सािव�ी की पढ़ाई| उ�ोनें अहमदनगर और पुणे से अपना �िश�ण पूरा
िकया| उसके प�ात् 1848 म� �ोितराव-सािव�ी ने लड़िकयो ंके िलए पहला �ूल खोला| उनके िश�ा दश�न के क� � म� था ‘समाज सुधार’| कहते ह�, अ�ा िश�क वही बन
सकता है, जो अ�ा िव�ाथ� हो| सािव�ी भी एक अ�े िव�ाथ� की तरह लगातार सामािजक गैर-बराबरी और उ�ीड़न को समझने की कोिशश करती थी|ं �ोितबा और
सािव�ी बाई हर सामािजक कुरीित से लड़ते और अपने आस-पास के माहौल म� ह��ेप करते| उ�ोनें जीवन भर िवधवा िववाह के िलए �यास िकए, अनाथ ब�ो ंके िलए
आसरे खोले| 1876 व 1879 के अकाल व 1897 के �ेग म� सािव�ीबाई ने गाँव- देहात म� पीिड़तो ंके िलए सहायता िशिवर चलाने व भोजन �व�था करने म� अथक �यास
िकए| �ेग म� मरीजो ंकी सेवा- देखभाल करते �ए ही वो बीमार पड़ी और उनकी मौत हो गई| उनका उदाहरण िदखाता है िक समाज से कटकर कोई �गितशील िश�क नही ं
बन सकता|

 

सािव�ी बाई के अनुसार िश�ा का मूल उ�े� है

[Question ID = 6651]

1. पढ़ाने के बहाने लोगो ंको जाितगत धाराओ ंम� बाँटना [Option ID = 26596]
2. लोगो ंम� समानता और बंधु� की भावना उ�� करना [Option ID = 26598]
3. लोगो ंम� जातीय िव�ेष उ�� करना [Option ID = 26597]
4. सामािजक संरचना को असंतुिलत करना [Option ID = 26595]

Correct Answer :-
लोगो ंम� समानता और बंधु� की भावना उ�� करना [Option ID = 26598]

एक िशि�का जब क�ा म� �वेश करती है तो कई बार इस सवाल से गुज़र चुकी होती है िक ‘उसके पढ़ाने का उ�े� �ा है? उसके �ान और ���� से िव�ाथ� �ा
सीख�गे? वह अपने िव�ािथ�यो ंके साथ कैसे समाज की क�ना साँझा करना चाहती है?’ शायद जब सािव�ी बाई फुले ने पढ़ाना शु� िकया होगा तब भले ही उ�� समाज का
साथ न िमला हो िक�ु उनके पास उ�े� और एक बेहतर समाज की क�ना की कोई कमी नही ंरही होगी| उ�ी ंके श�ो ंम�-

 “िव�ा �ा� कर� , शू�ो-ं अितशू�ो ंके दुःख िनवारण हेतु
 भट- बा�नो ंके ष�ं�ो ंके िपतरो ंको दूर फ़� क हेतु”

 उनका उ�े� था ऐसी िव�ा का िनमा�ण करना जो शू�ो-ं अितशू�ो ंको �ा�णो ंके ष�ं�ो ंसे लड़ना िसखाए| यह कोई िनम�ल सपना नही ंथा, ब�� एक संघष�पूण� जीवन का
चयन था| यह उस समय की बात है जब अं�ेज शासको ंने भारत म� �ूल और कॉलेज खोलने शु� िकए| वे भारतीयो ंका एक ऐसा वग� तैयार करना चाहते थे जो उनके िलए
�क�  का काम कर� , जो उनके और उनकी �जा के बीच अनुवादक बन सक� , एक ऐसा वग� जो खून और रंग से तो भारतीय हो पर पसंद, िवचार, श� और समझ म� अं�ेज|
ऐसे ही एक �ूल म� सािव�ी बाई फुले के पित �ोितराव फुले भी पढ़े| नौ साल की उ� म� सािव�ी का िववाह �ोितराव के साथ �आ| सािव�ी की पढ़ाई म� �िच देखकर
�ोितराव ने उ�� पढ़ाना शु� िकया| इस तरह शु� �ई उ�ीसवी ंशता�ी म� एक दिलत मिहला सािव�ी की पढ़ाई| उ�ोनें अहमदनगर और पुणे से अपना �िश�ण पूरा
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िकया| उसके प�ात् 1848 म� �ोितराव-सािव�ी ने लड़िकयो ंके िलए पहला �ूल खोला| उनके िश�ा दश�न के क� � म� था ‘समाज सुधार’| कहते ह�, अ�ा िश�क वही बन
सकता है, जो अ�ा िव�ाथ� हो| सािव�ी भी एक अ�े िव�ाथ� की तरह लगातार सामािजक गैर-बराबरी और उ�ीड़न को समझने की कोिशश करती थी|ं �ोितबा और
सािव�ी बाई हर सामािजक कुरीित से लड़ते और अपने आस-पास के माहौल म� ह��ेप करते| उ�ोनें जीवन भर िवधवा िववाह के िलए �यास िकए, अनाथ ब�ो ंके िलए
आसरे खोले| 1876 व 1879 के अकाल व 1897 के �ेग म� सािव�ीबाई ने गाँव- देहात म� पीिड़तो ंके िलए सहायता िशिवर चलाने व भोजन �व�था करने म� अथक �यास
िकए| �ेग म� मरीजो ंकी सेवा- देखभाल करते �ए ही वो बीमार पड़ी और उनकी मौत हो गई| उनका उदाहरण िदखाता है िक समाज से कटकर कोई �गितशील िश�क नही ं
बन सकता|

 

उपयु�� अनु�ेद के अनुसार ‘�गितशील िश�क’ से अिभ�ाय है

[Question ID = 6650]

1. ऐसा िश�क जो समाज से जुड़ा हो [Option ID = 26593]
2. ऐसा िश�क जो �गितशील िव�ालयो ंम� पढ़ाए [Option ID = 26592]
3. ऐसा िश�क जो पदो�ि� के िलए िनरंतर �यास करता रहे [Option ID = 26591]
4. ऐसा िश�क जो अनेको ंिव�ालयो ंम� पढ़ाए [Option ID = 26594]

Correct Answer :-
ऐसा िश�क जो समाज से जुड़ा हो [Option ID = 26593]

एक िशि�का जब क�ा म� �वेश करती है तो कई बार इस सवाल से गुज़र चुकी होती है िक ‘उसके पढ़ाने का उ�े� �ा है? उसके �ान और ���� से िव�ाथ� �ा
सीख�गे? वह अपने िव�ािथ�यो ंके साथ कैसे समाज की क�ना साँझा करना चाहती है?’ शायद जब सािव�ी बाई फुले ने पढ़ाना शु� िकया होगा तब भले ही उ�� समाज का
साथ न िमला हो िक�ु उनके पास उ�े� और एक बेहतर समाज की क�ना की कोई कमी नही ंरही होगी| उ�ी ंके श�ो ंम�-

  
“िव�ा �ा� कर� , शू�ो-ं अितशू�ो ंके दुःख िनवारण हेतु

 भट- बा�नो ंके ष�ं�ो ंके िपतरो ंको दूर फ़� क हेतु”
  

उनका उ�े� था ऐसी िव�ा का िनमा�ण करना जो शू�ो-ं अितशू�ो ंको �ा�णो ंके ष�ं�ो ंसे लड़ना िसखाए| यह कोई िनम�ल सपना नही ंथा, ब�� एक संघष�पूण� जीवन का
चयन था| यह उस समय की बात है जब अं�ेज शासको ंने भारत म� �ूल और कॉलेज खोलने शु� िकए| वे भारतीयो ंका एक ऐसा वग� तैयार करना चाहते थे जो उनके िलए
�क�  का काम कर� , जो उनके और उनकी �जा के बीच अनुवादक बन सक� , एक ऐसा वग� जो खून और रंग से तो भारतीय हो पर पसंद, िवचार, श� और समझ म� अं�ेज|
ऐसे ही एक �ूल म� सािव�ी बाई फुले के पित �ोितराव फुले भी पढ़े| नौ साल की उ� म� सािव�ी का िववाह �ोितराव के साथ �आ| सािव�ी की पढ़ाई म� �िच देखकर
�ोितराव ने उ�� पढ़ाना शु� िकया| इस तरह शु� �ई उ�ीसवी ंशता�ी म� एक दिलत मिहला सािव�ी की पढ़ाई| उ�ोनें अहमदनगर और पुणे से अपना �िश�ण पूरा
िकया| उसके प�ात् 1848 म� �ोितराव-सािव�ी ने लड़िकयो ंके िलए पहला �ूल खोला| उनके िश�ा दश�न के क� � म� था ‘समाज सुधार’| कहते ह�, अ�ा िश�क वही बन
सकता है, जो अ�ा िव�ाथ� हो| सािव�ी भी एक अ�े िव�ाथ� की तरह लगातार सामािजक गैर-बराबरी और उ�ीड़न को समझने की कोिशश करती थी|ं �ोितबा और
सािव�ी बाई हर सामािजक कुरीित से लड़ते और अपने आस-पास के माहौल म� ह��ेप करते| उ�ोनें जीवन भर िवधवा िववाह के िलए �यास िकए, अनाथ ब�ो ंके िलए
आसरे खोले| 1876 व 1879 के अकाल व 1897 के �ेग म� सािव�ीबाई ने गाँव- देहात म� पीिड़तो ंके िलए सहायता िशिवर चलाने व भोजन �व�था करने म� अथक �यास
िकए| �ेग म� मरीजो ंकी सेवा- देखभाल करते �ए ही वो बीमार पड़ी और उनकी मौत हो गई| उनका उदाहरण िदखाता है िक समाज से कटकर कोई �गितशील िश�क नही ं
बन सकता|

 

उपरो� ग�ांश के अनुसार अ�ा िश�क वही होता है जो
  

i. समाज क�ाण के िलए काय� करे
 ii. िपतरो ंका अनुसरण करे

 iii. अ�ा िव�ाथ� हो
 iv. समाज से जुड़ा हो

[Question ID = 53384]

1. (i), (iii), (iv) [Option ID = 93523]
2. (i), (ii), (iv) [Option ID = 93522]
3. (i), (ii), (iii) [Option ID = 93524]
4. (ii), (iii), (iv) [Option ID = 93525]

Correct Answer :-
(i), (iii), (iv) [Option ID = 93523]

एक िशि�का जब क�ा म� �वेश करती है तो कई बार इस सवाल से गुज़र चुकी होती है िक ‘उसके पढ़ाने का उ�े� �ा है? उसके �ान और ���� से िव�ाथ� �ा
सीख�गे? वह अपने िव�ािथ�यो ंके साथ कैसे समाज की क�ना साँझा करना चाहती है?’ शायद जब सािव�ी बाई फुले ने पढ़ाना शु� िकया होगा तब भले ही उ�� समाज का
साथ न िमला हो िक�ु उनके पास उ�े� और एक बेहतर समाज की क�ना की कोई कमी नही ंरही होगी| उ�ी ंके श�ो ंम�-

 “िव�ा �ा� कर� , शू�ो-ं अितशू�ो ंके दुःख िनवारण हेतु
 भट- बा�नो ंके ष�ं�ो ंके िपतरो ंको दूर फ़� क हेतु” 

 उनका उ�े� था ऐसी िव�ा का िनमा�ण करना जो शू�ो-ं अितशू�ो ंको �ा�णो ंके ष�ं�ो ंसे लड़ना िसखाए| यह कोई िनम�ल सपना नही ंथा, ब�� एक संघष�पूण� जीवन का
चयन था| यह उस समय की बात है जब अं�ेज शासको ंने भारत म� �ूल और कॉलेज खोलने शु� िकए| वे भारतीयो ंका एक ऐसा वग� तैयार करना चाहते थे जो उनके िलए
�क�  का काम कर� , जो उनके और उनकी �जा के बीच अनुवादक बन सक� , एक ऐसा वग� जो खून और रंग से तो भारतीय हो पर पसंद, िवचार, श� और समझ म� अं�ेज|
ऐसे ही एक �ूल म� सािव�ी बाई फुले के पित �ोितराव फुले भी पढ़े| नौ साल की उ� म� सािव�ी का िववाह �ोितराव के साथ �आ| सािव�ी की पढ़ाई म� �िच देखकर
�ोितराव ने उ�� पढ़ाना शु� िकया| इस तरह शु� �ई उ�ीसवी ंशता�ी म� एक दिलत मिहला सािव�ी की पढ़ाई| उ�ोनें अहमदनगर और पुणे से अपना �िश�ण पूरा
िकया| उसके प�ात् 1848 म� �ोितराव-सािव�ी ने लड़िकयो ंके िलए पहला �ूल खोला| उनके िश�ा दश�न के क� � म� था ‘समाज सुधार’| कहते ह�, अ�ा िश�क वही बन
सकता है, जो अ�ा िव�ाथ� हो| सािव�ी भी एक अ�े िव�ाथ� की तरह लगातार सामािजक गैर-बराबरी और उ�ीड़न को समझने की कोिशश करती थी|ं �ोितबा और
सािव�ी बाई हर सामािजक कुरीित से लड़ते और अपने आस-पास के माहौल म� ह��ेप करते| उ�ोनें जीवन भर िवधवा िववाह के िलए �यास िकए, अनाथ ब�ो ंके िलए
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आसरे खोले| 1876 व 1879 के अकाल व 1897 के �ेग म� सािव�ीबाई ने गाँव- देहात म� पीिड़तो ंके िलए सहायता िशिवर चलाने व भोजन �व�था करने म� अथक �यास
िकए| �ेग म� मरीजो ंकी सेवा- देखभाल करते �ए ही वो बीमार पड़ी और उनकी मौत हो गई| उनका उदाहरण िदखाता है िक समाज से कटकर कोई �गितशील िश�क नही ं
बन सकता| 

 उपरो� ग�ांश म� ‘ष�ं�ो’ं श� से ता�य� है [Question ID = 6649]

1. कुमं�णा [Option ID = 26590]
2. कुतक�  [Option ID = 26588]
3. कुशा�ता [Option ID = 26589]
4. कुमाग� [Option ID = 26587]

Correct Answer :-
कुमं�णा [Option ID = 26590]
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